		Details	of CA sit	tes, Parks a	nd Open Sp	aces in BDA	Layout West	t Division, BE)A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per apj	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division											
1	Rajajinagar, 1st N Block				3	14620	14620					
2	Rajajinagar, 1st N Block				27	28080	28080					
3	Rajajinagar, 1st N Block		-	-	43 1/E	10.000	10.000	Relingquished				
4	Rajajinagar, 1st N Block				94/A, 94/C	16650	16650					
5	Rajajinagar, 1st N Block				2	28000	28000					
6	Rajajinagar, 1st N Block				521/C	17396	17396					
7					12	8835	8835		P1	327104		
8					26	68314	68314		Play Ground	87730		
9					15	42120	42120					
10					23	126440	126440					
11	Rajajinagar 2nd Block				20	30000	30000	Relingquished				Relingquished
12					18	60000	60000					
13					14	15 Acres	15 Acres					
14					13	12 Acres	12 Acres					
15					17	13370	13370					
16					608/C	9145.5	9145.5					
17	Rajajinagar, 3rd Block				338/A	7290	7290	Relingquished				-
18					1839	19379.5	19379.5			1.50.510		
19	4				1050/A	45805	45805		P1	150640		
20	4				1	596.5	596.5		P2	219740		
21	Rajajinagar, 4th Block, 4th N				682/A	8346	8346					
22	Rajajinagar, 4th Block, 4th N Block, 4th E Block				76G	1536	1536	Relingquished				Relingquished
23					81	703.91	703.91					
24					28	2079	2079					
25					682/D	19140 Page 1	19140					

						C	A Sites			Parks	Details	-
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division											
26	Deisiine son 5th Diest				117	18160	18160		P1	218966		Relingquished
27	Rajajinagar, 5th Block				118	48420	48420					
28					1	36450	36450					
29					3	9500	9500					
30					2	30510	30510	Relingquished				
31					1036/A	4416.5	4416.5					
32		1			1036/A	18817.5	18817.5					
33					1035/A	14520	14520					
34					49	81824	81824					
35					177/A	6400	6400					
36					177/B	8990	8990					-
	Rajajinagar, 6th Block				-	-	-		P1	289228		Relingquished
	Kajajillagal, bill block				-	-	-		P2	23672		Kenngquished
37	Rajajinagar 2nd Stage				25	43810		Relingquished				-
38	,				1	6750		Relingquished				-
39 40				-	3	<u>30584</u> 31255		Relingquished Relingquished				-
40 41				-	909/A	8833.5		Relingquished				-
42	Rajajinagar 3rd Stage				<u> </u>	31913		Relingquished	ł			_
43	··j··j ·······························				1	29642		Relingquished	Î			-
44					6	19580	19580	Relingquished				-
45					7	220		Relingquished				-
									P1	33599		
									P2	6929		
									Р3	16570		
	Rajeev Gandhi Nagar Layout	t						-	P4	7061		Relingquished

		Details	of CA sit	tes, Parks ai	nd Open S	paces in BDA	A Layout Wes	t Division, BI	DA, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	pproved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division					ļ						
									P5 Dlav	9374		
									Play Ground	9374		
	Nandhini SFHS				1	300	300	Relingquished	P1	23069		Relingquished
47					2	324	324	Relingquished	P2	526347		Relingquished
48					3	300	300	Relingquished	P3	311685		Relingquished
49					4	18819	18819	Relingquished	P4	211165		Relingquished
50					5	5670	5670	Relingquished	P5	35162		Relingquished
51					6	3351	3351	Relingquished	P6	52890		Relingquished
52]			6B	6477	6477	Relingquished	P7	74062		Relingquished
53					6C	17108	17108	Relingquished	P8	87627		Relingquished
54					7	33689.56	33689.56	Relingquished				-
55					7A	25569	25569	Relingquished				-
56					8	5568	5568	Relingquished				-
57					9	13206	13206	Relingquished				-
58					10	44191	44191	Relingquished				-
59					11	13988	13988	Relingquished				-
	Laggere Sy No. 13, Nandhini				-	-	-	-	P1	3277		Relingquished
	Layout				-	-	-	-	Play ground	20617		Relingquished
	Nandhini layout 1st Block				-	-	-	-	P1	11029		Relingquished
	Laggere Sy no. 88,89,229, Nandhini Layout				-	-	-	-	P1	10205		Relingquished
	Okalipuram, 1Stage & 2nd				-	-	-	-	P1	215307		Relingquished
	Stage							-				Relingquished

		Details	of CA sit	tes, Parks a	nd Open Sj	paces in BDA	Layout Wes	t Division, Bl	DA, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division							~		- 1000		
	West of Chord Road, 2nd	-			3	23220	23220	Relingquished	P1	74088		Relingquished
61		4			9	4042	4042	Relingquished				-
62		4			8	67800	67800	Relingquished				-
63		4			10	8383.75	8383.75	Relingquished				-
64		4			7	86872	86872	Relingquished				-
65		4			7C	6050	6050	Relingquished				-
66		4			2	24462	24462	Relingquished				-
67		4			6B	7500	7500	Relingquished				-
68		4			666	12066	12066	Relingquished				-
69		4				6600 & 87165	6600 & 87165	Relingquished				-
70		4			5B	40467	40467	Relingquished				-
71		4			5	49248	49248	Relingquished				-
72		4			4	24000	24000	Relingquished				-
73		4			6	53000	53000	Relingquished				-
74		4			6A	67498	67498	Relingquished				-
75					683	15162.75	15162.75	Relingquished				-
76					10	11026.31	11026.31	Relingquished	4			-
77	WCR 2nd Stage, 2nd Phase				9	3772 & 12800	3772 & 12800	Relingquished	P1	7087		-
78					6 & 7	135936&5565	135936&5565	Relingquished				-
79	Mahalaumi Lauaut				1	14414	14414	Relingquished	P1 & Play ground	39195		-
80	Mahalaxmi Layout				2A	30306.6	30306.6	Relingquished	-			-
81	1				3/1	12012	12012	Relingquished				-
82					3/C	4185	4185	Relingquished				-
83]				3/L	14410	14410	Relingquished				-

		Details	of CA sit	tes, Parks a	nd Open Sp	oaces in BDA	A Layout Wes	t Division, BI	DA, Banga	lore.		
						С	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
0.4	No.1 Sub Division				27/4	1202.2	4202.2					
84 85	Mahalaxmi layout Further				37/A	4393.2 13810.4	4393.2 13810.4	Relingquished	4			
	Extension				1			Relingquished	P1	6000		Relingquished
86					2	25691.6	25691.6	Relingquished				
87	Industrial Town, Rajajinagar				1	42166.25 & 51527	42166.25 & 51527	Relingquished				-
88	Basaveshwaranagar, WCR, 3rd Stage, 1st Block				1	112812	112812	Relingquished				-
89	Basaveshwaranagar, WCR, 3rd Stage, 2nd Block				12	8326	8326	Relingquished				-
90	Basaveshwaranagar, WCR, 3rd Stage, 3rd Block				2	220000	220000	Relingquished				-
91					7A	19188	19188	Relingquished				
92	Basaveshwaranagar, WCR,				8	19188	19188	Relingquished	P1	94080		Relingquished
93	3rd Stage, 4th Block				629 & 630	3300	3300	Relingquished		1000		rteinigquisiteu
94					3	330	330	Relingquished				
95	Basaveshwaranagar, WCR, 4rd Stage, 4th Block				7	24412.5	24412.5	Relingquished				-
96	Basaveshwaranagar, WCR, 4rd Stage, 3rd Block				8	31007.5	31007.5	Relingquished	P1	55705		Relingquished
97	Industrial Works layout				1	3000	3000	Relingquished	P1	55705		
98					2	565	565	Relingquished				-
99	Peenya 2nd Stage				3	1828M ²	1828M ²	Relingquished				-
100					1(a)	4400	4400	Relingquished				-
101					1(b)	4200 Page 5	4200	Relingquished				-

		Details	of CA sit	tes, Parks a	nd Open Sj	paces in BDA	A Layout Wes	t Division, BI	DA, Banga	lore.		
						С	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
				-	Site No.	Extent [Sq ft]			10			12
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division											
400	No.2 Sub Division ಆರ್ಪೆಸಿ ಬಡಾವಣೆ	1			1.0	1010.07	1010.07	-				-
					1, 2	4312.26 sqm	4312.26 sqm	Relingquished				-
103					3 & 4	4312.26	4312.26	Relingquished				-
104					5	9814.53	9814.53	Relingquished				-
105					6	1766.2	1766.2	Relingquished				-
106					7,9	3495.44	3495.44	Relingquished				-
107					8	1546	1546	Relingquished				-
108					10	3358.98	3358.98	Relingquished				-
109					11	2022	2022	Relingquished				-
110					12 & 13	-	-	-				-
111					14	3160	3160	Relingquished				-
112					15	3388	3388	Relingquished				-
113					16	-	-	-				-
114					17	659.09	659.09	Relingquished				-
115					20 & 21	-	-	-				-
116					22	-	-	-				-
117					23	12364.39	12364.39	Relingquished				-
118					24	4773.75	4773.75	Relingquished				_
119					25& 26			-				_
120					27	_	_	_				_
121					28			-				_
122					29	2173.91	2173.91	Relingquished				-
	1	1 L				Page 6	21/3./1	Squiblied	I	<u>I</u>		

		Details	of CA sit	tes, Parks a	nd Open Sp	aces in BDA	Layout Wes	t Division, BI) A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per app	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
123	No.1 Sub Division				20(n)							
123					29(p) 31 & 32			-				-
125	ಎಂಆರ್ಸಿಆರ್				1	4544.25sqm	4544.25sqm	Relingquished				-
126					2	5882.25	5882.25	Relingquished				-
127					3	2937.6	2937.6	Relingquished				-
128					CA-1	1903.08	1903.08	Relingquished				_
129					CA1A1	765.19	765.19	Relingquished				-
130					CA-3	8590.18	8590.18	Relingquished				-
131					CA-17 & 18	11748	11748	Relingquished				-
132					CA-6	2924	2924	Relingquished				-
133					CA-7 & 8	4024.8	4024.8	Relingquished				-
134					CA-5	3045	3045	Relingquished				-
135					CA-22	2690	2690	Relingquished				-
136					CA-16	741.75	741.75	Relingquished				-
137					CA	139.5	139.5	Relingquished				-
138					CA	189	189	Relingquished				-
139					CA	2475	2475	Relingquished				-
140					CA	-	-	-				-
141					CA-16	663.08	663.08	Relingquished				-
142					CA	1021.75	1021.75	Relingquished				-
143					CA 2001	78.75	78.75	Relingquished				-
144					CA-1/B	1862	1862	Relingquished				-

		Details	of CA sit	tes, Parks a	nd Open Sp	oaces in BDA	Layout Wes	t Division, BE)A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
145	No.1 Sub Division				СА	139.29	139.29	Relingquished				
145					CA-1307	876.8	876.8	Relingquished				-
147					CA-23&24	743		Relingquished				
148					CA-1 & 2	256.42 &	256.42 &	Relingquished				
149					CA-2C	1147.5	1147.5	Relingquished				-
150					CA	307.2	307.2	Relingquished				_
151					CA-3	922.5	922.5	Relingquished				_
152					CA-10	2594.37	2594.37	Relingquished				-
153					СА	2528.6	2528.6	Relingquished				-
154					CA-4	5680.08	5680.08	Relingquished				-
155					CA2	1920	1920	Relingquished				-
156					СА	12380.4	12380.4	Relingquished				-
157					CA-12			-				-
158					CA-1428	18.25	18.25	Relingquished				-
						-	-	-				-
159					CA	54.00	54.00	Relingquished				
160					1	892.18 Sqmt	892.18 Sqmt					
161					2	892.18 Sqmt	892.18 Sqmt					
162					3	892.18 Sqmt	892.18 Sqmt					
163	ಜಂದ್ರಾ ಬಡಾವಣೆ,				4	892.18 Sqmt	892.18 Sqmt					
164	ಸರ್ವೆ ನಂ. 345 ಕೆಪಿಎ				5	892.18 Sqmt	892.18 Sqmt					
165					6	9002.20 Sqm	9002.20 Sqm	Relingquished				

		Details	of CA sit	tes, Parks a	nd Open Sp	aces in BDA	Layout Wes	t Division, BE)A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per app	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
100	No.1 Sub Division				7	1097 50 Sam	1087.50 Sqm	Dalina maishad				
166					,	1087.50 Sqm	-	Relingquished				
167					8	892.18 Sqmt		Relingquished				
168					9	892.18 Sqmt		Relingquished				
169					10	1560.67	1560.67	Relingquished				
170	ನಾಗರಛಾವಿ, 1ನೇ ಹಂತ ಬಡಾವಣಿ				CA sy no 52	1725.00 sqm	1725.00 sqm	Relingquished				-
171	Nagarbhavi 2nd stage 1st block				3	390.60 Sqm	390.60 Sqm	Relingquished				
172	Nagarbhavi 2nd stage 1st block				1 (a)	4400.00 Sqm	4400.00 Sqm	Relingquished				
173	-do-				1 (b)	4200.00 Sqm	4200.00 Sqm	Relingquished				
174	-do-				2	21409.00 Sqm	21409.00 Sqm	Relingquished				
11/0	Nagarbhavi 2nd stage 2nd block				1	1680.00 Sqm	1680.00 Sqm	Relingquished				
176	-do-				2	1830.57 Sqm	1830.57 Sqm	Relingquished				
177	Nagarbhavi 2nd stage 3rd block				1	18391.00 Sqm	18391 00 Sam	Relingquished				
178					2	-						
179	Nagarbhavi 2nd stage 5th block				1	12051.00 Sqm	12051.00 Sqm	Relingquished				
180					2	2528.00 Sqm	2528.00 Sqm	Relingquished				
181	Nagarbhavi 2nd stage 8th block				9	814.00 Sqm	814 00 Sam	Relingquished				

		Details	of CA sit	tes, Parks a	nd Open S	paces in BDA	A Layout Wes	t Division, BI)A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	pproved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
1		2	4	~	Site No.	Extent [Sq ft]	0		10	11	10	12
1	2	3	4	5	6	7	8	9	10	11	12	13
182	No.1 Sub Division Nagarbhavi 2nd stage 10th block			<u> </u>	6\1	13556.85 Sqm	13556.85 Sqm	Relingquished				
183	-do-				6\3	900.00 Sqm	900.00 Sqm	Relingquished				
184	-do-				6\4	900.00 Sqm	900.00 Sqm	Relingquished				
185	-do-				6\5	900.00 Sqm	900.00 Sqm	Relingquished				
186	-do-				6\6	630.00 Sqm	630.00 Sqm	Relingquished				
187	-do-				6\7	3993.00 Sqm	3993.00 Sqm	Relingquished				
188	-do-				6\8A	3004.98 Sqm	3004.98 Sqm	Relingquished				
189	-do-				6\8B	1720.00 Sqm	1720.00 Sqm	Relingquished				
190	Nagarbhavi 2nd stage 10th block				6\9	2126.00 Sqm	2126.00 Sqm	Relingquished				
191	-do-				6\10	40530.00 Sqm	40530.00 Sqm	Relingquished				
192	-do-				6\11	2507.92 Sqm	2507.92 Sqm	Relingquished				
193	-do-				6\12	10421.81 Sqm	10421 81 Sam	Relingquished				
194	-do-				6\13	32373.76 Sqm	32373.76 Sqm	Relingquished				
195	Nagarbhavi 2nd stage 11th block				16/1-9	55.75	55.75	Relingquished				
196		•			16\11	243.75	243.75	Relingquished				
197	-do-				16\12	134.37	134.37	Relingquished				
198	-do-				687\B	417.57 Sqm	417.57 Sqm	Relingquished				
199	-do-				687\C	139.29 Sqm	139.29 Sqm	Relingquished				
200	-do-				17	713.00 Sqm	713.00 Sqm	Relingquished				

		Details	of CA sit	tes, Parks a	nd Open S	paces in BDA	Layout Wes	t Division, BI	DA, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	pproved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division				202	10.42	10.42					
1/011	Nagarbhavi 2nd stage 13th block				283	1943	1943	Relingquished				
	Nagarbhavi 2nd stage 14th block				CA-1	-	-					
203	-do-				CA-2	-	-					
	No.3 Sub Division	•						-				-
204	Gnanabharathi Layout Scheme Nagadevanahally, 2nd Block.				CA - 1	2200.00		Relingquished	P - 1	8400.00		
205	2nd Diock.				CA - 4	5250.00	5250.00	Relingquished	P - 2	2350.00		
206					CA - 5	7500.00		Relingquished	P - 3	2418.00		Relingquished
207					CA - 6	1875.00		Relingquished				
208	Gnanabharathi Layout Scheme Nagadevanahally, Valagerahally 3rd Block.				CA - 1	450.00	450.00		P - 1	744.00		
	Gnanabharathi Layout Scheme Nagadevanahally, Block - 4							-	P - 5	37		-
209					CA - 2	925.00	925.00	Relingquished				-
	Gnanabharathi Layout				CA - 3	4350.00						
210	Scheme Nagadevanahally, Valageerahally 1st Block.							Relingquished				-
211					CA - 4	2294.00	2294.00	Relingquished				-
212	Chandra Layout, 1st Stage, 2st Phase				CA - 1	988.00	988.00	Relingquished				-
213	Nagarabhavi 1st Stage				CA - 1	2772.00	2772.00	Relingquished				-

		Details	of CA sit	tes, Parks a	nd Open Sj	paces in BDA	Layout West	t Division, BE)A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division								D 1	5400.00		
	Chandra Layout, 1st Stage, 1st Phase							-	P -1	5400.00		
	Chandra Layout, 1st Stage, 3rd Phase							-	P -1	6525.00		Relingquished
	ಸರ್.ಎಂ.ವಿಶ್ವೇಶ್ವರಯ್ಯ ನಗರ ಬಡಾ	ವಣೆ 1, ರಿಂದ 6	5					-				-
214	1 ನೇ ಬ್ಲಾಕ್				CA 1	11067	11067	Relingquished	Park 1	2619.26	2619.26	Relingquished
215					CA 2& 3	22157.8	22157.8	Relingquished	Park 2	15434.42	15434.42	Relingquished
216					CA 4	16562.22	16562.22	Relingquished	Park 2A	4438.86	4438.86	Relingquished
217					CA 5	9547.45	9547.45	Relingquished	Park 2B	583.96	583.96	Relingquished
218					CA 6	786.84	786.84	Relingquished	Park 3	3832.69		Relingquished
219					CA 7	7390.04	7390.04	Relingquished	Park 4	25648.42	25648.42	Relingquished
220					CA 8	838.5	838.5	Relingquished	Park 5	16884.28		Relingquished
221					CA 9	2484	2484	Relingquished	Park 6	17173.98	17173.98	Relingquished
222					CA 10	1076.58	1076.58	Relingquished	Park 7	65058.43	65058.43	Relingquished
223					CA 11	1027.84		Relingquished	Park 8	564.01		Relingquished
224					CA 12	4528.17		Relingquished	Park 9	1249.43	1249.43	Relingquished
225					CA 13	7000.09		Relingquished	-	-	-	-
	2 ನೇ ಬ್ಲಾಕ್				CA 1	2240	2240	Relingquished	Park 1	4465.99		Relingquished
227		ļ			CA 2	3432		Relingquished	Park 2	2813.52		Relingquished
228					CA 3	2802.97		Relingquished	Park 3	3949.45		Relingquished
229					CA 4	9567.24		Relingquished	Park 4	89057.92		Relingquished
230					CA 5	2524.3		Relingquished	Park 5	11778.02		Relingquished
231					CA 6	3724.85	3724.85	Relingquished	Park 6	5352.98	5352.98	Relingquished

		Details	of CA si	tes, Parks a	nd Open Sj	oaces in BDA	Layout West	t Division, BI) A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]	-					
1	2	3	4	5	6	7	8	9	10	11	12	13
222	No.1 Sub Division					(100.00	(100.00		D 1 7	2200.26	2200.26	D.1 1 1
232		_			CA 7	6120.92		Relingquished	Park 7	3288.26		Relingquished
233		_			CA 8	5735	5735	Relingquished	Park 8	641.87	641.87	Relingquished
234		_			CA 9	6726.79		Relingquished	-	-	-	-
235		_			CA 10	3220.33	3220.33	Relingquished	-	-	-	-
236		_			CA 10A	6931.54		Relingquished	-	-	-	-
237		_			CA 11	881	881	Relingquished	-	-	-	-
238		_			CA 12	1928.03		Relingquished	-	-	-	-
239		_			CA 12A	463.54	463.54	Relingquished	-	-	-	-
240		_			CA 13	1230.76		Relingquished	-	-	-	-
241					CA 14	1026.65	1026.65	Relingquished	-	-	-	-
242		_			CA 15	1357.11		Relingquished	-	-	-	-
243					CA 16	7215.78	1	Relingquished	-	-	-	-
244	3 ನೇ ಬ್ಲಾಕ್				CA 1	9413.83	9413.83	Relingquished	Park 1	24844.17		Relingquished
245					CA 2	2952.23	2952.23	Relingquished	Park 2	3359.99		Relingquished
246					CA 3	350	350	Relingquished	Park 3	12612.05	12612.05	Relingquished
247					CA 4	2722.83	2722.83	Relingquished	Park 3A	4443.16		Relingquished
248					CA 5	569.76	569.76	Relingquished	Park 4	12089.05	12089.05	Relingquished
249					CA 6	5075.56	5075.56	Relingquished	Park 5	28730.13		Relingquished
250					CA 7	2460	2460	Relingquished	Park 6	13939.92	13939.92	Relingquished
251					CA 8	12714.95	12714.95	Relingquished	-	-	-	-
252					CA 9	2610.15	2610.15	Relingquished	-	-	-	-
253					CA 9A	925.49	925.49	Relingquished	-	-	-	-
254					CA 10	5119.97		Relingquished	-	-	-	-
255					CA 11	10759.12	10759.12	Relingquished	-	_	-	-
256					CA 12	4040.55		Relingquished	-	-	-	-

		Details	of CA sit	tes, Parks a	nd Open Sj	paces in BDA	Layout West	t Division, BE)A, Banga	lore.		
						C	A Sites			Parks	s Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member		proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]			10			
1	2	3	4	5	6	7	8	9	10	11	12	13
257	No.1 Sub Division				CA 12	12225 21	12225 21	Dolingquichod	Dowlr 1	1140.47	1140.47	Dalingquighad
257	4 ಕೆ . ಬಾಸ್				CA 13 CA 1	13335.21 1232.82		Relingquished	Park 1 Park 2	1149.47 5589.87		Relingquished
	4 ನೇ ಬ್ಲಾಕ್	_						Relingquished				Relingquished
259					CA 2	2596.21		Relingquished	Park 3	21095.61		Relingquished
260		_			CA 3	14503.72		Relingquished	Park 4	2405.11		Relingquished
261		_			CA 4	840		Relingquished	Park 5	15510.94		Relingquished
262		_			CA 5	527.6		Relingquished	Park 6	6777.96		Relingquished
263		_			CA 5A	1158.46		Relingquished	Park 7	11704.83		Relingquished
264		_			CA 6	1197		Relingquished	Park 8	4979.73		Relingquished
265		-			CA 7	3014.31		Relingquished	Park 9	3689.12		Relingquished
266 267					CA 8 CA 9	13557.43 7221.82		Relingquished	Park 10 Park 12	27566.03		Relingquished
267								Relingquished	Park 12	18817.29	10017.29	Relingquished
268					CA 9A CA 10	8706.91 2860.58		Relingquished	-	-	-	-
209					CA 10 CA 11	1155.62		Relingquished	-	-	-	-
270					CA 11 CA 12	6684.37		Relingquished				-
271					CA 12 CA 13	924.13		Relingquished Relingquished	-	-	-	-
272					CA 13 CA 14	14242.52		Relingquished	-	_	-	-
273		-			CA 14 CA 15	4312.61		Relingquished	-		-	
274		-			CA 16	2163.29		Relingquished	-	-	-	
	5 ನೇ ಬ್ಲಾಕ್				CA 1	549.01	1	Relingquished	Park 1	23270.87	23270 87	Relingquished
270	- ···				CA 2	2169.75		Relingquished	Park 2	23270.07		Relingquished
277					CA 2 CA 3	3263.24		Relingquished	Park 2 Park 3	56223.66		Relingquished
278		-			CA 4	3200.83		Relingquished	Park 4	15890.12		Relingquished
280		-			CA4B	1073.57		Relingquished	Park 5	89439.07		Relingquished
280					CA4B CA 4A	1122.99		Relingquished	Park 6	31480.32		Relingquished
201					UA 4A	Page 14	1122.77	renngquisheu	I alk U	51400.52	51400.52	renngquisheu

		Details	of CA sit	tes, Parks a	nd Open Sj	paces in BDA	Layout Wes	t Division, BI) A, Banga	lore.		
						C	A Sites			Parks	s Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member		proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
1	2		4		Site No.	Extent [Sq ft]	0	0	10	11	10	12
1	2	3	4	5	6	7	8	9	10	11	12	13
282	No.1 Sub Division				CA 5	1191.31	1191.31	Relingquished	Park 7	911	911	Relingquished
282					CA 6	5161.71		Relingquished	Park 8	7054.88		Relingquished
284		-			CA 7	418.18	418.18	Relingquished	Park 9	2339.73	-	Relingquished
285					CA 8	9116.58	9116.58	Relingquished	Park 10	3701.48		Relingquished
286					CA 9	3693.99	3693.99	Relingquished	-	-	-	-
287					CA 10	4291.84	4291.84	Relingquished	-	-	-	-
288					CA 11	10781.63	10781.63	Relingquished	-	-	-	-
289	6 ನೇ ಬ್ಲಾಕ್				CA 1	1971.88	1971.88	Relingquished	Park 1A	672.8	672.8	Relingquished
290					CA 2	1156.01	1156.01	Relingquished	Park 1B	850.24	850.24	Relingquished
291					CA 3	11676.21	11676.21	Relingquished	Park 1C	1137.85	1137.85	Relingquished
292					CA 4	3724.15	3724.15	Relingquished	Park 2	9962.71	9962.71	Relingquished
293					CA 5	9572.61	9572.61	Relingquished	Park 3	5448.73	5448.73	Relingquished
294					CA 6	3584	3584	Relingquished	Park 3A	699.6	699.6	Relingquished
295					CA 7	10209.26	10209.26	Relingquished	Park 3B	824.93	824.93	Relingquished
296					CA 8	18229.56	18229.56	Relingquished	Park 4	19596.1	19596.1	Relingquished
297					CA 9	1127.7		Relingquished	Park 5	10748.73		Relingquished
298					CA 10	1022.14	1022.14	Relingquished	Park 6	19204.63		Relingquished
299					CA 11	2318.2	2318.2	Relingquished	Park 7	1963.42		Relingquished
300		_			CA 12	3666		Relingquished	Play gr	11808.78	11808.78	Relingquished
301		_			CA 13	2232.3		Relingquished	-	-	-	-
302		_			CA 14	1305	1305	Relingquished	-	-	-	-
303		_			CA 14A	1230.18		Relingquished	-	-	-	-
304		_			CA 15	13171.46		Relingquished	-	-	-	-
305					CA 16	16668.75	16668.75	Relingquished	-	-	-	-

		Details	of CA sit	tes, Parks a	nd Open S	paces in BDA	A Layout Wes	t Division, BE)A, Banga	lore.		
						С	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites allotted by Society to Member		proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished		
					Site No.	Extent [Sq ft]			10		10	10
1	2 No.1 Sub Division	3	4	5	6	7	8	9	10	11	12	13
	ಮುಂದುವರೆದ ಸರ್.ಎಂ.ವಿಶ್ವೇಶ್ವರಂ	ಯ್ಯ. ಬಡಾವಣೆ ೧	7 වංස 9					-				-
306	7 ನೇ ಬ್ಲಾಕ್				CA 1	2217.31	2217.31	Relingquished	Park 1	3218.94	3218.94	-
307					CA 2	3537.3	3537.3	Relingquished	Park 2	6477.94	6477.94	Relingquished
308					CA 3	3170.97	3170.97	Relingquished	Park 3	22757.56		Relingquished
309					CA 4	1707.33	1707.33	Relingquished	Park 4	1728.36		Relingquished
310					CA 5	759.71	759.71	Relingquished	Park 5	3580.96	3580.96	Relingquished
311					CA 6	21867.3	21867.3	Relingquished	Park 6	587.56	587.56	Relingquished
312					CA 7	8371.75	8371.75	Relingquished	Park 7	3930.27	3930.27	Relingquished
313					CA 9	625.33	625.33	Relingquished	Park 8	1608.7	1608.7	Relingquished
314					CA 10	8181.22	8181.22	Relingquished	Park 9	302089.47	302089.5	Relingquished
315					CA 14	1530.53	1530.53	Relingquished				-
316					CA 15	3075.86	3075.86	Relingquished				-
317					CA 17	964.26	964.26	Relingquished				-
318					CA 18	8617.95	8617.95	Relingquished				-
319					CA 19	3377.02	3377.02	Relingquished				-
320					CA 21	2564.19	2564.19	Relingquished				-
321					CA 23	1480.83	1480.83	Relingquished				-
322	8 ನೇ ಬ್ಲಾಕ್				CA 1	642.55	642.55	Relingquished	Park 1	3170.49	3170.49	Relingquished
323		1			CA 2	993.2	993.2	Relingquished	Park 6	577.6		Relingquished
324		1			CA 3	7391.11		Relingquished	Park 9	_		-
325		1			CA 4	466.94		Relingquished				- 1

		Details	of CA sit	tes, Parks a	nd Open Sj	paces in BDA	Layout Wes	t Division, BE)A, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the Layout	No. of sites approved by BDA	No of sites released by BDA	No. of sites allotted by Society to Member	As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
226	No.1 Sub Division				C A 5	(052.21	(052.21	Dalingguighad				
326		_			CA 5	6953.31		Relingquished				-
327 328		-			CA 6	8103.48 3647.44	8103.48 3647.44	Relingquished				-
328					CA 7 CA 8	1986.29	1986.29	Relingquished				-
330					CA 8	3538.09	3538.09	Relingquished Relingquished				-
331		-			CA 10	4009.39	4009.39	Relingquished				-
332		-			CA 10	1519.39	1519.39	Relingquished				
333					CA 12	1606.87	1606.87	Relingquished				
334		-			CA 13	476.67	476.67	Relingquished				-
335		-			CA 14	286.2	286.2	Relingquished				-
336					CA 15	343.31	343.31	Relingquished				-
337					CA 16	344.1	344.1	Relingquished				-
	9 ನೇ ಬ್ಲಾಕ್				CA 1	838.84		Relingquished				-
339		-			CA 2	2456.86	2456.86	Relingquished				-
340					CA 3	1754.98	1754.98	Relingquished				-
341		-			CA 4	562.85	562.85	Relingquished				-
342		1			CA 5	4579.75	4579.75	Relingquished				-
343		1			CA 6	2632.7		Relingquished				-
344		1			CA 7	7514.11		Relingquished				-
345					CA 11	2331.39		Relingquished				-
346		7			CA 12	1637.84	1637.84	Relingquished				-
347		7			CA 13	3562.36		Relingquished				-
348		7			CA 14	5272.75	5272.75	Relingquished				-
349					CA 15	805.3	805.3	Relingquished				-
350		7			CA 16	1494.68		Relingquished				-

		Details	of CA sit	tes, Parks a	nd Open Sp	paces in BDA	Layout West	t Division, BI	DA, Banga	lore.		
						C	A Sites			Parks	Details	
Sl No.	Name of the LayoutNo. of sites approved by BDANo of sites 				As per ap	proved Plan	Measurement as per existing	Relingquished	As per approved plan	Measurment in Sq ft	Existing	Relingquished
					Site No.	Extent [Sq ft]						
1	2	3	4	5	6	7	8	9	10	11	12	13
	No.1 Sub Division											

Executive Engineer West Division BDA., Bangalore

		Details of	f CA Sites,	Parks and O	pen Spaces	s in Bangalo	re Developmen	t Authority &	Private La	ayout Pertai	ns to west Divisio	n	
							CA Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
1	2	BDA	3	4	5	6	7	8		9	10	11	12
	No.	1 Sub Division	1	1									
1					1	mtr	2051.84 sq mtr			P1	7655.96 sq mtr		
2	Upkar Layout, formed in sy no	344	344		2	3514.92sq mtr	3514.92sq mtr	Yes		Р2	481.25sq mtr		Yes
3	56/p, 61/2 etc				3	1280.97sq mtr	1280.97sq mtr			Р3	3347.5 sq mtr		
										P4	4883.4 sq mtr		
4	HMT Employ				1	162360	162360	ļ		P1	11405sq mtr		
5	HBCS in				2	69866	69866	ļ		P2	2822sq mtr		
6	Nagasandra, SY				3	6600	6600			P3	7755sq mtr		
	no. 103A, 48/1 &					-				P4	4619sq mtr		
	2, 49 etc &	1326	1198			-		Yes		P5	6066sq mtr		Yes
	Nelakadhirenahalli					-				P6	3631sq mtr		
	Sy no. 5/1-2, 6/7- 10 etc					_				play ground	4693sq mtr		
										P12	8917.75sq mtr		
	Padmashree					-				P1	752.48sq mtr		Yes
-	Shantha Rao Pvt									P2	493.07sq mtr		
	Railway Mens HBCS (Shankarnagar)	181	181							P1 & Play ground	2146 sq mtr		Yes
7	Kirloskar HBCS sy no 176,177,193 of Laggere	113	113		1	7350	7350	Yes		P1	25600 sq mtr		Yes
	Kirloskar HBCS sy no ,192 of Laggere	64	64										
	Kirloskar HBCS sy no 25,26/1,26/2 of Sanneguruvanahall i	131	131							P1	1885.87 sq mtr		Yes
<u> </u>	Shishkara HBCS	27	27							P1	395.50sq mtr		
	SBI officers HBCS saneguruvanahalli sy no. 27	75	75							P1	30600sq mtr		Yes

			_				A Sites	_			Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
	Sathyanarayana HBCS , 1st Stage	147	147							P1	1400sq mtr		Yes
	BEML Officers	385								P1	74880sq mtr		
	HBCS Saneguruvanahalli		385							play ground	4849. sq mtr		Yes
	BEML Officers	75								P1	74880sq mtr		Yes
	HBCS Saneguruvanahalli		75							play ground	4849. sq mtr		Yes
8	Maruthi HBCS in sy no. 6	80	80		1	510.92 sq mtr	510.92 sq mtr	Yes		P1	3625sq mtr		Yes
	Gayathri HBCS in sy no 5	165	105			•				P1 P2	20160sq mtr 14500sq mtr		Yes
	Adharsha HBCS sy no 6 & 7	74	74							P1	18850. sq mtr		Yes
	Venkateshwara Krupa HBCS sy no. 203,208,211 of Laggere	112	112							P1	13300sq mtr		Yes
	BFW HBCS sy no.									P1	23750sq mtr		Yes
	14 & 15 of									P2	11264sq mtr		Yes
	Co-op Employees HBCS sy no. 173 of K M Hally									P1	13824sq mtr		Yes
9	F T I HBCS sy no.	29			1	3295	3295			P1	2304sq mtr		
10	of J B Kaval		29		2	5130	5130	Yes					Yes
11		10			3	766	766						
	Athmeeya	13	13							P1 P2	1920sq mtr		Yes
	Geleyara Balagha Railway Men's HBCS Ramakrishnanagar sy no. 1 of J B Kaval									P2 P2	38250sq mtr 36960sq mtr		Yes
12	BHEL Employees HBCS sy no 14 and 15 of Laggere	97	97		1	717	717	Yes		P1	66560sq mtr		Yes
	Kempegowda	69								P1	231.04sq mtr		
	Rural House		69							P2	1576.27sq mtr		Vec

						С	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member		proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
	Building Co-		0)							P3	320.85sq mtr		103
	operative Society,									P4	407sq mtr		
	Yeshwanthapura	120								P1	1647.21sq mtr		
	Hobli, Ullal		72							P2	798.07sq mtr		Yes
	Village sy no. 59/2									P3	1757.91sq mtr		
13	WCR 1st Stage, 2nd phase Shashikanth Shet, & Kanthilal Shet HBCS, Sy no. 20/4,21/2,21/3,22/ 3	58	58		1	918.85 sqm	918.85 sqm	Yes					
14	WCR 2nd Stage, Laggere sy no. 169/1- 3,172/1,173/1-3 Sathyanarayana Layout				1	2720.00 sq ft	2720.00 sq ft	Yes					
15	WCR 2nd Stage	107	107		1	6090 sq ft	6090 sq ft	Yes					
16	Kirloskar		107		2	26400 Sqft	26400 Sqft	1 05					
17	WCR 2nd Stage Vyalikaval HBCS sy no. 178 & 179 of Laggere	171	171		1	1238.95 sqm	1238.95 sqm	Yes					
18					1(p)	1240 sqm	1240 sqm	Yes					
	Kirloskar HBCS sy no 195 of Laggere	44	44										
19	WCR 3rd Stage	44			1	16.000	16.000	Yes					
20	4th Block National HBCS 2nd Stage,		44		2	517.37 sq m	517.37 sq m	Yes					
21	WCR 3rd Stage 4th Block National HBCS Magadi Road, SG Halli Sy no. 86/1-3	158	158		1	1225.81Sq m	1225.81Sqm	Yes					
22	WCR 3rd Stage Astagrama HBCS	109	109		1	1069.17 sq m	1069.17 sq m	Yes					
23	Sy No. 69 of SG Halli		103		2	278.81 sq m	278.81 sq m	res					

							A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per ap Site No	Extont	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
24	WCR 3rd Stage 4th Block Model HBCS sy no. 20 & 21 of SG Halli	30	30		1	809.55 Sqm	809.55 Sqm	Yes					
	WCR 3rd Stage,Gruhalaxmi HBCS, 1st Stage sy no. 29/1-5 of SG Halli				1	7791.19 sq m	7791.19 sq m	Yes					
	WCR 3rd Stage,Gruhalaxmi HBCS, 2nd Stage sy no. 29/1-5 of SG Halli	185	185		2	3068.55 sqm	3068.55 sqm	Tes					
	WCR 3rd Stage University HBCS S G halli sy no. 7	96	96							P1	14760 sq ft		Yes
27	WCR 3rd Stage Karnataka HBCS Laggere Sy no. 184,185,186 & 338	171	168		1	23300 sqm	23300 sqm	Yes					
28	WCR 3rd Stage Vinayaka 1st Stage HBCS Magadi road, sy no. 69/2 SG Halli	54	54		1	223.03 sqm	223.03 sqm						
29	WCR 2nd Stage Gelayara Balaga HBCS 2nd stage J K Kaval sy no 1				1	1197.17 sqm	1197.17 sqm						
30	WCR 3rd Stage.	59	- 59		8	6693 sq ft	6693 sq ft	ţ					
31	4th Block,				8/A			ļ					
32	Sathyanarayana HBCS S G halli sy no. 20/1-2,197, of Laggere	170	170		1	248.32	248.32	Yes					

						С	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	allotted by Society to			Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
	Karnataka HBCS Laggere sy no. 136/172/172	арргочец Бу вв.	172	Member	Site No					P1	57502 sq ft		
33 34 35 36 37	kethamaranahally HBCS	273	266		1 2 3 4 5	763.26Sq 651.37 773.69 678.08 4882.08	763.26Sq 651.37 773.69 678.08 4882.08						
	N	o.2 Sub Di	vision										
	Ambedkar Layout at K P Agrahara	63	63	59	-	-	-			1	1200.00sq mtrs		
38	Telecom HBCS Layout at K P Agrahara	374	150	310	CA-1	2335.00	2335.00				No Parks		Not Relinguished
39	Kalyan Co	357	357	357	CA-1	2150	2150			P1	849.25		Relinguished made
40	operative HBCS	201	507	201	CA-2 CA-3	1620.2 2721.55	1620.2 2721.55			P2	1315.11		
	V							Not		P1	1240.47sqm		Not Relinquished
42	Vyalikaval HBCS at K P Agrahara	371	90	371	1	4748.44	4748.44	Relinquished		P2 P3 P4	1100 848 1659.97		
	The Accountant									P1	3317.25		Relinquished made
43	General, HBCS, Ullal.	252	226	252	CA 1	10603.9	10603.9	Yes		P2 P3 P4	4021.11 3018.63 2815.42		
44	Amarajyothi HBCS,Sy no. 431/1 of K P Agrahara	24	-	24	-	-	-			-			Not Relinquished
45	Amarajyothi HBCS,Sy no. 421 of K P Agrahara	12	-	12	1	1762.20sqm	1762.20sqm	Yes		-			Not Relinquished

						С	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
46	Amarajyothi HBCS, Sy no. 435/1,2,3 of K P Agrahara	45	-	45	2	-	-			-			Not Relinquished
47	Amarajyothi HBCS, Sy no. 417 of K P Agrahara	42	-	42	1	-	-			-			Not Relinquished
48	Amarajyothi HBCS,Sy no. 418/1,418/2 of K P Agrahara	92	-	92	-	-	-			1			Not Relinquished
49	National HBCS,Sy no. 443/1 of K P Agrahara	25	-	25	-		_			-			Not Relinquished
50			_		1	717.72 sqm	717.72 sqm	Yes		-			Not Relinquished
						1		Yes					Not Relinquished
	National HBCS,							Yes					Not Relinquished
	Sy no. 422/1-5,			1				Yes					Not Relinquished
	423/1,424,427 &	1(0		1(0				Yes					Not Relinquished
	428/2 of K P	169		169				Yes					Not Relinquished
51	Agrahara (Modified)				2	937.02	937.02	Yes		-			Not Relinquished
52	(Modified)				3	424.08	424.08	Yes		-			Not Relinquished
53					4	304.92	304.92	Yes		-			Not Relinquished
54					5	1206	1206	Yes					Not Relinquished
55							-			1			Not Relinquished
	ļ			ļ			-			2			Not Relinquished
	National			ļ			-			3			Not Relinquished
	HBCS,Sy no.			ļ			-			4			Not Relinquished
	428/1, 430/1 of	157		157	-	_	-			5			Not Relinquished
							-			6			Not Relinquished
	K P Agrahara						-			7			Not Relinquished
				ļ			-			8			Not Relinquished
	ļ			ļ			-			9			Not Relinquished
							-			10			Not Relinquished

							A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
56	City Chikepet HBCS,Sy no. 353,354 of K P Agrahara	107		107	2	1686.00sqm	1686.00sqm	Yes		1			Not Relinquished
	City Chikepet HBCS, Sy no. 413/1 of K P Agrahara	48		48	-	-	-			-			Not Relinquished
57	Binnimill Labour HBCS,Sy no. 186,189 of K P Agrahara	116		116	1	2323.23 sqm	2323.23 sqm	Yes		-			Not Relinquished
58	Bapuji HBCS,Sy no. 406 to 410 of K P Agrahara	440		440	4	-	-			1			Not Relinquished
59	Vinayaka HBCS,Sy no. 383/4,384/1 & 2 of K P Agrahara	129		129	1	-	-			1			Not Relinquished
60	Vinayaka	152		152	1	-	-			1			Not Relinquished
61	HBCS,Sy no.				-	-	-			2			Not Relinquished
62	GKW HBCS sy	228		228	1	2560.00sqm	2560.00sqm	Yes		-			Not Relinquished
63	no. 377/1 of KP				2	Odd site	Odd site	Yes		-			Not Relinquished
64	Agrahara RPF HBCS sy				3	1161.84sqm	1161.84sqm	Yes		-			Not Relinquished
65	no. 385/1 of K P Agrahara	93		93	1	-	-			2			Not Relinquished
66	Basaveshwara	122		122	1	689.00sqm	689.00sqm	Yes		2			Not Relinquished
67	HBCS,	132		132	2 & 3	-	-						Not Relinquished
68	Basaveshwara HBCS, sy no. 360 & 362 of K P Agrahara	152		152	1	713.27 sqm	713.27 sqm	Yes		3			Not Relinquished

						С	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
69	Venkateshwara HBCS, Sy no. 431	45		45	1	-	-			-			Not Relinquished
70	WIDIA HBCS, sy no. 327, 328	116		116	2	-	-			3			Not Relinquished
	Central Excise HBCS, sy no. 186/A of K P Agrahara	129		129	-	-	-			-			Not Relinquished
	Munilaxmamma HBCS, sy no. 349/6 of K P Agrahara	10		10	-	-	-			2			Not Relinquished
	Kempegowda HBCS, sy no. 439/1 of K P Agrahara	35		35	-	-	-			1			Not Relinquished
71	Hariram oil Das HBCS, sy no. 442/1 to 6 of K P Agrahara	40		40	1	-	-			-			Not Relinquished
72	Syndicate Bank Employers HBCS sy no. 66,67 of K P Agrahara	49		49	2	-	-			-			Not Relinquished
			3 sub div										
	Karnataka Income	Tax Modified							P-1	1748.00	1748.00		
	142		132	132					P-2	535.10	535.10		
									P-3 P-4	356.73 401.32	356.73 401.32		
									P-4 P-5	222.96	222.96		Relinquished
									P-6	111.48	111.48		
									P-7	557.40	557.40		
									P-8	1114.80	1114.80		
	BEL HBCSin sy no	o 53/1,2 54, 56			CA	2000	2000	ł	P-1	12036.00	12036.00		
74	855		845	845	CA	162	162	l	P-2	6345.00	6345.00		

			-			C	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
75					CA	1147	1147	Relinquished	P-3	2064.00 3240.00	2064.00 3240.00		
76					CA	777	777		P-4	744.00	744.00		Relinquished
77					CA	2812	2812		P-5	7003.00	7003.00		
									P-6	3822.00	3822.00		
									P-7	11424.00	11424.00		
70	Dejejinegara UDC	C II Staga in a	v no 20 21 1	22.27 of	CA 1	240 5	240 5			0070.04	0070.04		
78 79	Rajajinagara HBC	S il Stage ill's	-		CA-1 CA-2	346.5	346.5		P-1	2376.91	2376.91		
	920		920	920		793.72	793.72		P-2	231.14	231.14		
80					CA-3	140.4	140.4	Relinquished	P-3	1075.14	1075.14		
81					CA-4	782	782		P-4	2955.75	2955.75		
82					CA-5	917.56	917.56		P-5	177.51	177.51		
83					CA-6	866.25	866.25		P-6	9553.35	9553.35		
									P-7	5208.00	5208.00		Relinquished
									P-8	6308.75	6308.75		
									P-9	535.50	535.50		
									P-10	4128.00	4128.00		
									P-11	2462.14	2462.14		
									P-12	2772.00	2772.00		
									P-13	3780.00	3780.00		
									P-14	1660.80	1660.80		
84	Karnataka State G	ovt Group 'D	' HBCS Sric	nandada	CA-1	2160.00	2160.00		P-1	3876.00	3876.00		
85	1228		723	723	CA-2	1892.00	1892.00	Relinguished	P-2	124.80	124.80		
86			0	0	CA-3	3240.00	3240.00		P-3	1485.00	1485.00		
00					0.10	0210100	02.0.00		P-4	4510.50	4510.50		
									P-5	256.00	256.00		Relinquished
									P-6	545.60	545.60		(but part of CA &
									P-7	579.30	579.30		Parks are built
									P-8	2707.50	2707.50		up)
									P-9	20037.62	20037.62		- 1.7
									P-10	395.20	395.20		
									P-11	1478.70	1478.70		
										1470.70	1470.70		
	Health & Family W	elfare HBCS	-		CA-1	2266.28	2266.28		P-1	3412.50	3412.50		
88	593		558	558	CA-2	5319.05	5319.05	l					
89					CA-3	4152.21	4152.21	Relinquished					Relinquished
90					CA-4	2451.71	2451.71						
91					CA-5	3623.4	3623.4						
02	Rajajinagara HBC	S Stage in av	no 39(n) 3	9(n) = 40(n)		4607.04	4607.04			2010.00	2010.00		
		s i staye ili sy			CA-1	4697.94	4697.94	Relinquished	P-1	3910.00	3910.00		Relinquished
93	678		678	678	CA-2	378.84	378.84		P-2	2594.75	2594.75		

						C	CA Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	allotted by Society to Member	As per app Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
	Kendra Upadhya S	Sangha in sy r	no 1/2 to 7, {	50,55,53,54					P-1	1980.00	1980.00		
	425		350	350					P-2	858.50	858.50		Relinquished
									P-3	5460.00	5460.00		
		0							5.4	0.4.07.00	0.407.00		
	Lokaseva Housing	g Co-op Socie							P-1	3127.00	3127.00		
	200		187	187					P-2	875.00	875.00		
									P-3 P-4	1679.00 512.00	1679.00 512.00		Relinquished
									P-5 P-6	442.00 476.00	442.00 476.00		
									F-0	470.00	470.00		
94	Intelligence Burea	HBCS in sy n	0		CA-1	1696.80	1696.80		P-1	4275.00	4275.00		
95	95	-	95	95	CA-2	195.39	195.39	Relinquished					Della suisked
96					CA-3	2001.00	2001.00						Relinquished
97	Gavipuram Extens	sion HBCS Lto	l, in Sy No.4	2	CA-1	2821.00	2821.00		P-1	3072.00	3072.00		Relinquished
98	72		72	72	CA-2				P-2	540.00	540.00		Kennquisneu
	F (000 UF								5.4	1000.00	1000.00		
	Forest Officers HE	SCS in sy no 2	1		CA-1A	266.8	266.8	+	P-1	1000.00	1000.00		
100	321		321	321	CA-1B	266.8	266.8	+	P-2	2400.00	2400.00		
101					CA-1C	574.75	574.75	Relinquished	P-3 P-4	1400.00	1400.00		Relinquished
102 103					CA-2 CA-3	846.4 654.26	846.4 654.26	ł	P-4 P-5	2101.00 5430.00	2101.00 5430.00		
103					CA-3 CA-4	623	623	\mathbf{H}	P-5 P-6	3900.00	3900.00		
104					04-4	023	023		F-0	3900.00	3900.00		
	Banglore Emp	loyees Social	welfare HB	CS Ltd.,					P-1	880.00	880.00		
	290		279	279					P-2	7076.00	7076.00		
									P-3	1692.00	1692.00		
									P-4	225.00	225.00		Della suisked
									P-5	525.00	525.00		Relinquished
									P-6	720.00	720.00		
									P-7	360.00	360.00		
									P-8	639.00	639.00		
105	Bangalore City En	nployees HBC	-	-	CA-1	256.82	256.82	Relinquished	P-1	432.00	432.00		Relinquished
	28		28	28				1	P-2	450.00	450.00		•
104	Nagadayanahalii				CA 1	12620.00	12620.00			200.00			
106	Nagadevanahalli 319	[1		CA-1	12020.00	12020.00	Relinquished	P-1 P-2	300.00 216.00			
	319												
									P-3 P-4	30.00 540.00			
									P-4 P-5	288.00			Not Relinquished
						<u> </u>			P-5 P-6	256.00			Not itemiquisited

						С	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per app Site No	Extont	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
									P-7	384.00			
									P-8	60.00			
									P-9	240.00			
									.	0507.00	0507.00		
	Mico HBCS Sy No	46/3,4,5, Of De							P-1	6537.00	6537.00		Relinquished
	80		80	80									
107	333/1 of Kempapu	ra agrahara			CA-1	378.00	378.00		P-1	720.00			
108	223	a agranara	223	223	CA-2	2664.00	2664.00	Relinquished	P-2	1080.00			
100	220		220		0/(2	2001.00	2001.00		P-3	365.00			Relinquished
									P-4	1087.00			
									P-5	3470.00			
	Deevatigeramanah	nalli							Р	1636.00			Relinquished
109	Gavipuram sy no 4	12 HBCS Mall	athahalli		CA-1	225.00	225.00	Relinguished	P-1	600.00			Relinquished
110					CA-2	506.00	506.00	Reilliquistieu	P-2	675.23			Reinquisrieu
111	BCC Gangondaha	lli (Sy.no.44/1			CA -1	148.00	148.00	Relinquished	P-1	2400.00			
	351		324	324					P-2	1410.00			
									P-3	1309.00			
									P-4	3600.00			
									P-5	4363.00			
									P-6	1145.00			Relinquished
									P-7	410.12			
									P-8	482.00			
									P-9 P-10	2377.00 372.00			
									P-10 P-11	372.00			
									F-11	350.00			
112	Nayandahalli				CA-1	1042.63	1042.63		P-1	5672.00			
	384		122		_			Relinquished	P-2	5320.42			
									P-3	333.64			Not Relinquished
									P-4	3558.85			(Built up)
									P-5	834.00			
	Deevatigeramanal	nalli	1		CA-1	222.42	222.42	Relinquished	P-1	1112.14			Relinquished
114	93		93		CA-2	602.4	602.4	quioriou	P-2	444.86			
		<u> </u>											
	Valagerehalli @ Du	ubasipalya	a=						P-1	508.63			Dalia, 11 1
	27		27						P-2	685.73			Relinquished
									P-3	133.18			

						C	CA Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per app Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
	Mallathahalli												
	Mallathahalli		Г						D 4	0070.00			Delinguished
	133								P-1	2078.00			Relinquished
									P-2	2150.00			
	Mallathahalli												
	Manathanan							Not					
115	591		470	Not known	CA 1	32384.00	32384.00	Reqlinquishe d	Park 1	1071.00			
116					CA 2	25864.00	25864.00		Park 2	3686.00			
117					CA 3	46432.00	46432.00		Park 3	2643.00			
									Park 4	1214.00			Not Relinquished
									Park 5	7403.00			
									Park 6	5855.00			
									Park 7	9447.00			
	MPM HBCS in sy	no 3,5,6,7,8,14	4,15,16,17, c	of									
	564		402	402					Park 1	3990.75			
									Park 2	282.5			Relinquished
									Park 3	2198.85			
	ITI HBCS in sy no	Mallathanalli						Not					
118	875		250	Not known	CA 1	7436 Sqm	7436 Sqm	Reqlinquishe	Park 1	30652	4246.88		Relinquished
									Park 2	6528	5992.48		
	HBCS Mallathahal	li											
	243		0	0					Park 1	404.94 Sqm			
									Park 2	1323.43			
									Park 3	350.89			Not Relinguished
									Park 4	481.83			
									Park 5	389.00			
									Park 6	6027.00			
110			L	L		4000.05	1000.05			0074.05			
	NGEF HBCS in sy	no 13,14,15 c			CA-1	1338.00	1338.00	Yes	P-1	6971.00			
120	675		550	550	CA-2	1561.00	1561.00	Yes	P-2	813.00 5560.00			
121					CA-3	3321.00	3321.00	Yes	P-3 P-4				Relinquished
									P-4 P-5	3002.78 1459.68			
									P-5 P-6	2780.00			
									1-0	2100.00			
	Nagarabhavi		I										

							CA Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per app Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
122	162	DD 4	98	98	CA	8364.00	8364.00	Court litigation					
	No.4 Sub Division												
	ಬೆಂಗಳೂರು ದಕ್ಷಿಣ ತಾಲು	್ಲಾಕು ಕೆಂಗೇರಿ ಹೋಣ	ಬಳಿ,										
123			48	48	CA.Site. No.1	408.03	27M x 15.11M	Relinquished		Park -1	27.00 x 92.75	27.00 x 92.75	Relinquished
									Relinquis hed	Park -1	7.90+9.6/2 x 46.00	7.90+9.6/2 x 46.00	
									Relinquis hed	Park -2	3.60+23.3/2 x 775.00	3.60+23.3/2 x 775.00	
			185	185					Relinquis hed	Park -3	169 x 22.50+24.50/2 16.00x 24.50 + 26.6/2 81.00 x 26.60+21.40/2 1/2 x 2.30 x 22.50	169 x 22.50+24.50 /2 16.00x 24.50 + 26.6/2 81.00 x 26.60+21.40 /2 1/2 x 2.30 x 22.50	Relinquished
	ಬೆಂಗಳೂರು ದಕ್ಷಿಣ ತಾಲು	್ಲಾಕು,ಕೆಂಗೇರಿ ಹೋಬ	ುಳಿ, ಸೂಲಿಕೆರೆ										
									Relinquis hed	Park -1	1/2 x 26.07 x 43.27 1/2 x 43.27 x 93.18 1/2 x 114.17 x 17.17 1/2 x 17.17 x 5.09	1/2 x 26.07 x 43.27 1/2 x 43.27 x 93.18 1/2 x 114.17 x 17.17 1/2 x 17.17 x 5.09	

							A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member		proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
			136	82					Relinquis hed	Park -2	47.34 x 26.05 4.75 x 26.05 53.29 x 6.42 1/2 x 9.30 x 53.09 /2 x 1.92 x 6.46 - Rg礀 «1ÛÃtð 278.77	47.34 x 26.05 4.75 x 26.05 53.29 x 6.42 1/2 x 9.30 x 53.09 1/2 x 1.92 x 6.46 - Rg礀 «1ÛÃtð 278.77	Relinquished
									Relinquis hed		1/2 x 2.93 x 6.06	/2 x 2.93 x 6.0	
	ಬೆಂಗಳೂರು ದಕ್ಷಿಣ ತಾಲು	್ಲಾಕು,ಕೆಂಗೇರಿ ಹೋಬ	, ಕೆಂಚನಮರ	ಗ್ರಾಮದ ಸರ್ವೆ.	ನಂ.44 ಮತ್ತು	56(ಪಿ) ರಲ್ಲಿನ ಒ	.ಟ್ಟು 03 ಎಕರೆ 29.6	4 ಗುಂಟೆ					
			53	32					Relinquis hed	Park -1	1/2 x 94.00 x 19.55 1/2 x 14.19 x 1.81 14.25 x 94.00	1/2 x 94.00 x 19.55 1/2 x 14.19 x 1.81 14.25 x 94.00	

				-			A Sites	-			Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per app Site No	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
			222	133					Relinquis hed	Park -A	1/2 x 90.78 x 7.12 1/2 x 78.12 x 7.44 1/2 x 6 x 11.46 1/2 x 27.2 x 94.38 1/2 x 11.46 x 21.20 1/2 x 3.32 x 6.264 2.95 x 37.79 1/2 x 3.31 x 32.39 1/2 x 2.95 x 45.45.02 1/2 x 0.31 x 9.66 1/2 x 0.31 x 1.93 1/2 x 27.43 x 30.20	1/2 x 90.78 x 7.12 1/2 x 78.12 x 7.44 1/2 x 6 x 11.46 1/2 x 27.2 x 94.38 1/2 x 11.46 x 21.20 1/2 x 3.32 x 6.264 2.95 x 37.79 1/2 x 3.31 x 32.39 1/2 x 2.95 x 45.45.02 1/2 x 0.31 x 9.66 1/2 x 0.31 x 1.93 1/2 x 27.43 x 30.20	Relinquished
										Park -B	30.20 9.284 x 9.15 1/2 x 9.284 x 8.43	30.20 9.284 x 9.15 1/2 x 9.284 x 8.43	
										Park -C	1/2 x 32.00 x 35.983 26.10 x 15.00 6 x 3 10.09 x 4.46 1/2 x 4.46 x 4.91	1/2 x 32.00 x 35.983 26.10 x 15.00 6 x 3 10.09 x 4.46 1/2 x 4.46 x 4.91	
										Park -D	1/2 x 24.33 x 10.288 1/2 x 13.65 x 96.05 10.68 x 83.82 1/2 x 10.68 x 12.235	1/2 x 24.33 x 10.288 1/2 x 13.65 x 96.05 10.68 x 83.82 1/2 x 10.68 x 12.235	

					C	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	proved plan Extent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
					 				Park -E	1/2 x 20.71 x 18.3 1/2 x 20.55 x 18.21 3.84 x 18.3 0.09 x 20.55 1/2 x 59.213 x 8.414	1/2 x 20.71 x 18.3 1/2 x 20.55 x 18.21 3.84 x 18.3 0.09 x 20.55 1/2 x 59.213 x 8.414	
					 				Park -F	1/2 x 9.4642 x 8.414	1/2 x 9.4642 x 8.414	
					 				Park -G	1/2 x 46.99 x 18.03 1/2 x 35.07 x 18.03 1/2 x 7.48 x 8.44 19.94 x 8.44 13.2 x 27.43 1/2 x 4.173 x 83	1/2 x 46.99 x 18.03 1/2 x 35.07 x 18.03 1/2 x 7.48 x 8.44 19.94 x 8.44 13.2 x 27.43 1/2 x 4.173 x 83	
					 			Relinquis hed	Park -H	17.01 x 80.52 6.5 x 65.66 1/2 x 6.5 x 1.95 1/2 x 5.48 x 7.32 1/2 x 5.48 x 21.32 1/2 x 17 x 23.04 0.364 x 76.58 1/2 x 0.36 x 15.68 1/2 x 0.86 x 15.68 4.58 x 22.69 1/2 x 15.14 x 22.69 1/2 x 0.36 x 1.24	17.01 x 80.52 6.5 x 65.66 1/2 x 6.5 x 1.95 1/2 x 5.48 x 7.32 1/2 x 5.48 x 21.32 1/2 x 17 x 23.04 0.364 x 76.58 1/2 x 3.35 x 60.9 3.35 x 15.68 1/2 x 0.86 x 15.68 4.58 x 22.69 1/2 x 15.14 x 22.69 1/2 x 0.36 x 1.24	Relinquished

						C	CA Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	released	No of Sites allotted by Society to Member	As per app Site No	Fytent	Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
		DD 4								Park -I	1/2 x 68.22 x 59.21 1/2 x 37.25 x 41.42 53.08 x 41.42 1/2 x 3.24 x 26.37 3.24 x 30.04 1/2 x 2.5 x 30.05 1/2 x 5.74 x 10.91	1/2 x 68.22 x 59.21 1/2 x 37.25 x 41.42 53.08 x 41.42 1/2 x 3.24 x 26.37 3.24 x 30.04 1/2 x 2.5 x 30.05 1/2 x 5.74 x 10.91	

						С	A Sites				Parks Details		Relinquished
Sl no	Name of the layout	No of Sites approved by	No of sites released by BDA	No of Sites allotted by Society to Member	As per apj Site No		Measuremen t as per existing	Relinquished	Purpose	As per approved plan	As per approved plan (measurement)	Measuremen t as per existing	Relinquished
									Relinquis hed	Park -J	7.79 x 81.82 1/2 x 7.79 x 10.50 1/2 x 3.18 x 13.32 1/2 x 3.63 x 15.25 1/2 x 3.63 x 15.24 1/2 x 3.63 x 15.24 3.18 x 68.5 3.63 x 53.26 3.63 x 38.02 3.63 x 22.78 1/2 x 5.43 x 22.78 1/2 x 0.79 x 3.3 3.3 x 21.29 1/2 x 8.7 x 22.08	$\begin{array}{c} 7.79 \ x \ 81.82 \\ 1/2 \ x \ 7.79 \ x \\ 10.50 \\ 1/2 \ x \ 3.18 \ x \\ 13.32 \\ 1/2 \ x \ 3.63 \ x \\ 15.25 \\ 1/2 \ x \ 3.63 \ x \\ 15.24 \\ 1/2 \ x \ 3.63 \ x \\ 15.24 \\ 1/2 \ x \ 3.63 \ x \\ 15.24 \\ 3.18 \ x \ 68.5 \\ 3.63 \ x \ 53.26 \\ 3.63 \ x \ 53.26 \\ 3.63 \ x \ 22.78 \\ 1/2 \ x \ 5.43 \ x \\ 22.78 \\ 1/2 \ x \ 5.43 \ x \\ 22.78 \\ 1/2 \ x \ 0.79 \ x \\ 3.3 \\ 3.3 \ x \ 21.29 \\ 1/2 \ x \ 8.7 \ x \\ 22.08 \end{array}$	Relinquished
	ಬೆಂಗಳೂರು ಉತ್ತರ ತಾಲ್ಲೂಕ	ಕು							†				
124			53	53	CA.Site-1	228.78Sqm	11.10+13.0+1 2.80 x 18.60	Yes	1	Park-1	+4.20/2 x 42.30+4:	4.20/2 x 42.30+	45.70/2

Executive Engineer West Division BDA., Bangalore.

Details of CA Sites in BDA Layout and Private Layouts Pertaining to East Division

	SI No.		CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
			·	CAS	Sites at BDA La	ayout	·		
1	1	HSR Layout Sector 1	22	<u>69.0+68.00</u> 2	<u>50.60+51.0</u> 2	3593.16	Yes		Allotted to Telephone Dept (Temporary Building constructed)
	2			43.60	2.60	113.36	Yes		Allotted to Mitra Jyoti Blind School (building under Construction)
	3		25(P) a	56.50	45.10	2548.15	Yes		Allotted to Deepayana Edu Trust
	4		25/1A			4193.50	Yes		Allotted to Syndicate Bank (office)
	5		27	<u>100.30+99.00</u> 2	<u>159.0+144.30</u> 2	15111.92	Yes		Vacant
	6		28	37.75	53.00	2000.75	Yes		Allotted to Cambridge School (building Constructed)
	7		28(P)1	75.45	<u>52.50+51.50</u> 2	3923.00	Yes		Hospital
	8		28(P)2	<u>44.55+36.75</u> 2	50.30	2052.24	Yes		Manava Trust Committee Hall
	9		29/A (a)	<u>31.00+22.70</u> 2	<u>26.85+26.90</u> 2	2851.44	Yes		Allotted to Central Govt Ground Water Dept. (building Constructed)
	10		(b)	30.50	19.50	594.75	Yes		Allotted to Homeopathi Hospital
	11		(c)	36.50	36.63	1337.00	Yes		Allotted to Petrol Bunk is under working
	12		(d)	<u>16.77+14.06</u> 2	36.68	560.50	Yes		Allotted to Police Station
	13		(e)	<u>73.43+76.90</u> 2	23.57	1771.43	Yes		Keonics office
	14		(f)	<u>32.35+48.52</u> 2	16.96	575.00	Yes		Sri Vasavi Education Trust
	15		(g)	<u>71.67+73.43</u> 2	30.90	2730.00	Yes		Allotted to Education Trust
	16		31	a) 78.2	<u>32.60+42.70</u> 2	2944.23	Yes		Allotted to Education Department, for Construction of Public College

SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
17			b) 78.8	<u>38.80+17.30</u> 2	5154.57	Yes		Allotted to Education Department
18		31/A	½ x 75.00	118.00	4425.00	Yes		Allotted to Transport Department
19		36/P2				Yes		PU College
20	HSR Layout Sector 2	13	81.50	<u>42.50+50.80</u> 2	3801.97	Yes		Allotted to Cosmopolitan Education Trust & School Building is constructed
21		17	42.50	<u>91.50+104.50</u> 2	2082.50	Yes		Allotted to Siddartha Education Trust & Building is under constructed
22		17/A		<u>91.50+104.50</u> 2	2082.50	Yes		Allotted to Samrudha Education Trust
23		19	<u>81.00+29.00</u> 2	<u>21.00+13.00</u> 2	1360.00	Yes		BWSSB
24		23	<u>39.00+22.00</u> 2	<u>168.80+168.0</u> 2	5131.62	Yes		KPTCL
25		11/A	24.80+24.70 2	<u>84.60+84.50</u> 2	2092.67	Yes		Allotted to I B P
26		11/B	25.20	<u>26.20+25.20</u> 2	647.64	Yes		Hospital
27	HSR Layout Sector 3	1	<u>63.20+64.20</u> 2	<u>23.00+20.70</u> 2	1391.85	Yes		Allotted to T.K.Patil Benakatti Charitable Trust
28		3	<u>106.90+111.</u> 80 2	<u>91.40+96.40</u> 2	8469.00	Yes		Proposed for Sports Complex
29		12	<u>70.50+66.20</u> 2	<u>130.00+129.</u> 50 2	8868.40	Yes		HSR Club
30	HSR Layout Sector 4	32	140.20	96.20	13459.20	Yes		Notified to Educational Institution
31		32/P	42.67	96.00	4096.32	Yes		To Social Welfare dept for SC & ST Hostel
32		32/P1			7988.00	Yes		Childrens Education Society
33		32/P2			3954.92	Yes		NAFL Education Trust
34		32/P3			1343.16	Yes		Shakunthala Education Trust

SI No	Name of the Lavout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
35	5	38	170.00	<u>175.00+48.00</u> 2	18995.00	Yes		To BMTC
36		38/P	½ x 59.00	48	1416.00	Yes		To I O C
37	,	39	83.00	<u>39.00+34.00</u> 2	3029.50	Yes		Notified for Kannada Medium School
	HSR Layout Sector 5		No C	A Sites formed				
38	B HSR Layout Sector 6	3 A			2224.00	Yes		3A allotted to Cauvery Education Society (Lawrence School)
39)	3 B	47.90+47.00 2	<u>181.5+180.0</u> 2	1464.00	Yes		Vacant
40)	3 C			4888.00	Yes		Vacant
41		4 A			11090.76	Yes		Allotted to JSS College
42	2	4 B	<u>334.25+324.</u> 0 2	<u>117.2+116.0</u> 2	20416.61	Yes		Allotted to HSR BDA Complex
43	3	4 C			2789.37	Yes		Siddartha Charitable Trust
44	•	4D			4079.26	Yes		Shankar Netralaya
45	5 HSR Layout Sector 7	6(P)	33.80	53.00	1791.40			Allotted to Childerns Play Ground
46	3	7	<u>59.50+39.</u> 40 2	<u>53.70+62.</u> 00 2	2860.68			Allotted to Srinivasa Education & Charitable Trust
47	,	8	<u>27.20+43.</u> 30 2	<u>56.00+54.</u> 30 2	1944.03			Allotted to Ministry of Company Affairs Government of India.
2 48	BTM 4th Stage 1st Block	1a	39.60	33.50	1326.60	Yes		Nightingale Educational Institution
49)	1b	27.45	33.50	919.57	Yes		do
50		2a	21.7	41.4	898.38	Yes		BWSSB
51		2b	12.7	<u>41.40+26.00</u> 2	427.49	Yes		do

SI No		CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
52	2 BTM 4th Stage 2nd Block	4a	51.10	26.35	1346.49	Yes		Petrol Bunk
53	3	4 b	93.40	<u>25.00+35.00</u> 2	2802.00	Yes		Vacant
54		4c	<u>40.00+60.00</u> 2	<u>35.00+47.00</u> 2	2050.00	Yes		Notified to Library
55	5	5a	½ x 17.55	33.50	293.96	Yes		Notified for Kalayana Mantapa
56	3	5b(1)	100.6	67	6740.20	Yes		Notified for Shopping Complex
57	7	5b(2)	42.3	<u>75.85+33.50</u> 2	784.38	Yes		do
58	3	7a	<u>70.80+60.70</u> 2	<u>41.10+49.60</u> 2	2983.57	Yes		KPTCL
59		7b	<u>67.80+68.70</u> 2	<u>90.00+99.40</u> 2	6463.28	Yes		Notified for Transport Yard
60		10	116	<u>13.20+48.80</u> 2	3565.00	Yes		Notified for Ward Office
61		11	123	<u>50.00+69.60</u> 2	7355.40	Yes		Notified for BTS Depot
62	2	13	<u>37.00+53.00</u> 2	<u>50.00+75.00</u> 2	2812.50	Yes		Playground
63	3	14	<u>32.00+32.65</u> 2	<u>14.00+26.00</u> 2	620.00	Yes		Vacant
64		18	75.00	45.00	3375.00	Yes		Existing Burial Ground
65	5	19	½ x 44.00	34.50	759.00	Yes		do
66	3	23	<u>19.75+20.20</u> 2	<u>40.20+43.00</u> 2	832.00	Yes		Vacant
67	BTM 6th Stage 1st Phase		<u>24.60+37.20</u> 2	88.40	2731.56	Yes		Vacant
	Koramangala 1st Block		No C	A Sites formed				
	Koramangala 2nd Block		No C	A Sites formed				

SI No	Name of the Lavour	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
68	Koramangala 3rd Block	25			30738.28	Yes		Reddy Jana Sangha Building Constructed
69		26	135.00	51.00	6885.00	Yes		BDA Complex
70		39/A	<u>60.00+51.00</u>		1535.02	Yes		Allotted to Anand Education Trust, physically vacant
71		42	2	45.70 —	2536.35			
72		40	37.00	24.50	906.50	Yes		Post Office building constructed
73		41	45.70	61.50	2810.55	Yes		Rashtra Basha Parishat, Allotted physical vacant
74	Koramangala 4th Block	20/A	½ x 60.00	65.00	1950.00	Yes		Telephone Exchange Building Constructed
75			½ x 65.00	72.00	4680.00	Yes		
76			½ x 19.77	65.00	642.50	Yes		
77	,	-	½ x 13.00	25.00	162.50	Yes		
78		Totlot	<u>134.00+132.00</u> 2	<u>17.00+13.00</u> 2	1995.00	Yes		Childrens playground handedover to BMP & Park
79		CA	55.00	<u>35.00+3.00</u> 2	1045.00	Yes		HOPCOM's, Nandini Milk Booth area 20 x 15 feet balance vacant
80		29	<u>63.00+65.00</u> 2	<u>41.00+49.00</u> 2	2909.50	Yes		Allotted to Boggaram Trust, Physically vacant
81		30/B	<u>41.00+49.00</u> 2	<u>65.00+68.00</u> 2	2992.50	Yes		Allotted to Fuel Depot (Gas Agency) & partial vacant
82		30/A	<u>43.00+52.00</u> 2	<u>68.00+74.00</u> 2	3372.50	Yes		Burial Ground (Chruch Building Constructed)
83		30	<u>33.00+25.00</u> 2	74	2146.00	Yes		Burial Ground
84		31	<u>50.00+45.00</u> 2	<u>74.00+79.00</u> 2	3633.50	Yes		Chinmaya Vidyalaya Building constructed

SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
85		32	55.00	<u>74.00+86.00</u> 2	4537.50			Litigation Partial building existing and balance is vacant
86		33	28.00	32.30	904.50	Yes		Private Building constructed by S.N.Ankanreddy
87	Koramangala 6th Block	6	<u>60.00+57.50</u> 2	<u>45.00+47.20</u> 2	2708.34	Yes		Allotted to Indian Heritage Academy Building Constructed
88		7	<u>61.50+59.70</u> 2	<u>47.20+49.00</u> 2	2919.66	Yes		FMR India Partially Built Up
89		7/P			1020.25	Yes		Ladies Hostel
90		8	<u>59.00+58.00</u> 2	<u>50.00+51.00</u> 2	2908.90	Yes		Police Station Building Constructed
91		9	<u>109.50+110.00</u> 2	<u>51.50+57.00</u> 2	5954.00	Yes		Bethany School Building Constructed
92		12	25.4	36.60	893.00	Yes		Allotted to KH Trust
93		13	28.5	35.00	1567.50	Yes		Allotted to Telecommunication, Post office building constructed
94		14	26	55.00	1430.00	Yes		Allotted to Padmanayaka Sangha Building constructed
95		15	<u>32.70+33.60</u> 2	<u>55.00+54.00</u> 2	1806.67	Yes		Allotted to Kalayana Mantapa building Constructed
96		CA	<u>40.30+42.70</u> 2	<u>82.60+65.50</u> 2	3073.00			Fenced (Vacant) High Tention wire crossing
97		17	<u>100.00+96.00</u> 2	<u>94x5+96.00</u> 2	8858.25	Yes		Allotted to Koramangala Residential Association Club
98	Koramangala 7th Block	CA	42	42.00	1764.00	Yes		Allotted to Uppara Balaga Sangha
99		CA	25	25.00	825.00	Yes		Earmarked for Unnapla
100		CA	½ x 37	51.00	943.50	Yes		Park
101		CA	½ x 25.5	46.00	586.50	Yes		Temple

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	102	Koramangala 8th Block	2	15.5	28.50+35.00 2	492.13	Yes		Park
	103		3	53.5	20.00+26.00 2	1230.5	Yes		Park
	104		4	<u>76.00+53.50</u> 2	<u>15.50+24.50</u> 2	1295	Yes		Park
5	105	Binnamangala 1st & 2nd Stage		100.00	<u>30.00+15.00</u> 2	2250.00	Yes		Allotted to Smt. Nazare.V.Rajvathi Bai Trust
	106			145	<u>6.00+15.00</u> 2	1522.50	Yes		Existing Compound wall Not Developed
	107		169/1	36.6	48.75	1784.25	Yes		KNE Trust
	108		169/2	36.6	18.29	669.41	Yes		Allotted Bharathi Vrunde
	109		169/3	36.6	21.33	780.68	Yes		Special Buerau Cabinet Secretriate
	110		169/4	36.6	18.29	669.41	Yes		Allotted to Holy Shepherd Edutl Society
	111		169/5	36.6	27.40	1002.84	Yes		Veenna Maharaj Kalyana Mantapa
	112		169/6	36.6	27.40	1002.84	Yes		Arya Samaj Mandira
	113			183	<u>100.00+45.0</u> 2	13267.50	Yes		Allotted to Hindi Samaj Society
	114			53	64.00	3392.00	Yes		Allotted to Kaveri School
	115			<u>166.00+25.0</u> 2	287.00	23706.37	Yes		Allotted Spastic Society
	116			43.00	91.00	3913.00	Yes		Allotted Deaf & Dum School
	117			½ x 137	50.00	3425.00	Yes		Allotted to Muslim Minority Edutl Society
	118			<u>148.00+83.00</u> 2	<u>190.00+220.5</u> 2	23706.37	Yes		Indiranagar Shopping Complex

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	119			89.3	82.30	7349.39	Yes		Allotted to LIC of India
	120			89.3	53.30	4759.69	Yes		Allotted to BMTC
	121			89.3	47.25	4219.43	Yes		Allotted to KUIDFC
6	122	HAL 2nd Stage		95.5	46.70	4459.85	Yes		Alloted to National Eng School
	123			42.6	33.50	1427.10	Yes		Allotted to Indiranagar Methodist Chruch
	124			54.8	30.50	1671.40	Yes		Chief Librarian Central Library
	125			30.5	36.50	1113.25	Yes		Allotted to HAL Employees Association
	126		8	61	27.40	1671.40	Yes		Alloted to President East Cultural Association
	127			65.5	29.50	1932.25	Yes		Allotted to Chairman MD Krishna Rao memorial Trust
	128		62	137	106.70	14617.90	Yes		Allotted to Sathya Sai Trust
	129			<u>61.00+51.80</u> 2	<u>54.00+55.50</u> 2	3087.90	Yes		Allotted to Kodava Samaj
	130			31.5	46.45	1463.18	Yes		Allotted to K P T C L
	131		5	<u>47.40+47.00</u> 2	<u>60.00+59.60</u> 2	3392	Yes		Allotted to Kaveri School
	132			57.00	57.00	3249.00	Yes		Allotted to Indiranagar Sangeetha Sabha
	133			4.50	6.10	27.45	Yes		Allotted to HOPCOM
	134			43.00	91.00	3913.00	Yes		Allotted to HOPCOM
	135			18.47	25.00	461.75	Yes		Allotted to BWSSB
	136			18.59	<u>47.30+52.40</u> 2	926.71	Yes		Allotted to Medical Service Trust

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	137			97.50	120.00	11700.00	Yes		Allotted to Indiranagar Social Cultural Trust
	138			a) 36.60	19.00	693.50	Yes		Allotted to Indiranagar Sangeetha Sabha
	139			b) 31.00	51.00	1581.00	Yes		Allotted to Indiranagar Club
	140	Dookanahally		89.30	47.25	4219.43	Yes		Allotted to Little Flower School
	141			33.50	56.00	1876.00	Yes		Allotted to BMP
	142			48.00	28.00	1344.00	Yes		Unauthorized shed existing proposal for demolotion is under
	143	Kodihally	1	<u>79.36+88.00</u> 2	22.50+75.60 2	4104.5	Yes		Allotted to K P T C L
	144	HAL 2nd Stage 1st Cross		18.28	110.00	2010.80	Yes		Allotted to Pragathi Edutl Society
	145	Dookanahally		99.00	42.00	4158.00	Yes		Allotted to Dr.Ambedkar Educational Society
	146			99.00	91.50	9058.50	Yes		Allotted to Dr.Ambedkar Educational Society
	147			1) 128.00	157.00	20096.00	Yes		Allotted to E S I Hospital
	148			2) 128.00	<u>42.00+73.00</u> 2	7360.00	Yes		Allotted to E S I Hospital
	149	100 Feet Road		45.70	96.00	4387.20	Yes		Allotted to New Horizon Education society
	150			33.50	18.28	612.38	Yes		Allotted to Sathya Sai Trust
7	151			33.50	16.70	559.45	Yes		Allotted to Postal Dept
	152	80 Feet Road		82.00	115.00	9430.00	Yes		Allotted to Chinamaya Trust
	153	Konnena Agrahara		33.50	<u>15.50+5.50</u> 2	351.75	Yes		Vacant

SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
154	JB Nagar		97.50	45.70	4455.75	Yes		Allotted to Postal Dept
155			45.70	45.70	2088.49	Yes		Allotted to Womens and Childrens Association
156			36.50	67.00	2445.50	Yes		Allotted Yenkay Education Society
157	JB Nagar	1	30.50	22.00	671.00	Yes		Allotted to Public Instuctions
158	JB Nagar		22.00	18.29	402.38	Yes		Allotted to Kalayana Mantapa building Construction
159	JB Nagar		45.70	45.70	2088.49	Yes		Allotted to Karnataka Handicapped Association
160			72.50	73.10	5299.75	Yes		Allotted to Poornaprajnya Education Society
161	HAL 3rd Stage		73.10	72.50	5299.75	Yes		Indiranagar Cambridge Educational Society
162			61.00	<u>27.40+30.50</u> 2	1765.95	Yes		Allotted to Miranda Educational Society
163	JB Nagar		34.00	91.00	3094.00	Yes		Allotted to BMTC Bus Stand
164			5.00	6.00	30.00	Yes		Allotted to KMF
165	Thippasandra		31.50	25.00	787.50	Yes		Allotted to Bangalore Medical Centre
166	Komangatha	3	59.40	31.00	1841.40	Yes		Allotted to BWSSB
167			<u>24.39+79.60</u> 2	79.26	4121.12	Yes		Allotted JSS Maha Vidya Peeta
168	Sy.No. 41 of Thippasandra		7.00	6.00	42.00	Yes		Allotted to KMF
169	Geethanjali Layout		4.60	6.10	28.06	Yes		Allotted to HOPCOM
170	JB Nagar	6	37.20	18.28	680.02	Yes		Allotted to Bangalore Round Table
171		7	40.00	50.00	2000.00	Yes		Allotted to Sneha Trust

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	172	HAL 3rd Stage		33.8	<u>15.50+43.00</u> 2	988.42	Yes		Allotted to BCC (IPP)
	173			39.30	15.20	597.36	Yes		Allotted to JB Nagar Police Station
	174			39.30	30.00	1179.00	Yes		Allotted to Bharat Petroleum
	175			32.95	42.70	1406.97	Yes		Proposed for Police Station
	176	JB Nagar	2 P(1)	40.00	24.00	960.00	Yes		Allotted to P & T dept
	177		2 P(2)	40.00	25.00	1000.00	Yes		Allotted to Kodava Samaj
	178		2 P(3)	47.00	23.00	1081.00	Yes		allotted to Humble Charity Trust
	179		2 P(4)	39.00	54.40	2121.60	Yes		Allotted to Magaveera Sangha
	180			71.50	56.00	4004.00	Yes		Allotted to Horticultural Dept
	181			38.00	86.00	3268.00	Yes		vacant using as Playground
	182	Geethanjali Layout		19.50	36.00	702.00	Yes		Allotted to University Womens Association
	183			½ x 10.00	19.50	97.50	Yes		Allotted to University Womens Association
8	184	Indiranagar 1st Cross		18.28	51.80	946.90	Yes		Allotted to BWSSB
	185	JB Nagar Road		33.50	24.30	814.05	Yes		Allotted to BWSSB
	186			39.00	26.00	1014.00	Yes		Allotted to Safal Dairy Fresh
	187			39.00	26.00	1014.00	Yes		Allotted to NGO WARDS
	188	JB Nagar		100.00	18.30	1830.00	Yes		Allotted to Karnataka English school
	189	JB Nagar Main Road		73.00	99.00	7227.00	Yes		Allotted to Nethaji S.C.Bose School

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	190	HAL 3rd Stage		28.50	29.50	840.75	Yes		Vacant Proposed for Notification
	191	Thippasandra		36.50	22.85	834.03	Yes		Allotted to Postal Dept
	192			143.25	<u>68.50+6.50</u> 2	5371.87	Yes		Allotted to Poornaprajnya Education Society
	193	HAL 3rd Stage	6(B)	36.50	46.60	1700.90	Yes		Proposed for ISRO Employees Hospital
	194	515 CWC	1	<u>15.00+18.00</u> 2	<u>6.50+13.00</u> 2	160.87	Yes		Vacant Proposed for Notification
	195		2	½ x 13.50	12.50	84.37	Yes		Vacant Proposed for Notification
	196		3	½ x 28.00	16.00	224.00	Yes		Vacant Proposed for Notification
	197	B M Kaval	1(A)	17.50	19.50	341.25	Yes		Vacant Proposed for Notification
	198		1(B)	½ x 27.50 ½	14.30	196.62	Yes		Vacant Proposed for Notification
	199	Domlur 2nd Stage		½ x 74.50 ½	12.50	465.62	Yes		Vacant Proposed for Notification
9	200	S T Bed	1			5763.4	Yes		Bethany school
10	201	Wilson Garden	1/1	30.48	45.72	1393.55	Yes		Sri Ramaseva Mandali Trust
	202		1/3	<u>20.73+24.38</u> 2	27.43	618.68	Yes		P & T Dept
	203		1/2	26.82	30.48	817.47	Yes		Wilson Garden Education Trust
11	204	Sonnenahalli	1	49	16	784.00	Yes		BMTC Bus Stand
	205		2	<u>3.48+32.16</u> 2	107.9	3403.7	Yes		Police Station

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	206			19.81	<u>13.41+14.02</u> 2	271.69	Yes		Shanthinagar Education Society
	207			10.06	15.54	156.33			
	208			59.00	<u>26.30+7.30</u> 2	991.2	Yes		Sri Ramaseva Mandali Trust
12	209	Sampigehalli	1	20.42	<u>8.38+8.08</u> 2	168.06	Yes		Hospital
	210		2	28.35	<u>19.81+20.12+2</u> 0.42 3	570.31	Yes		M/s Chidananda Ashrama Trust
13	211	Austin Town		6.20	<u>6.90+6.60</u> 2	376.95			
	212			33.50	<u>11.0+10.20</u> 2	576.95			
	213		12	34.60	<u>39.78+67.25</u> 2	1851.61			
	214		12	36.60	42.05	1539.03			
	215		12	64.50	<u>50.50+52.50</u> 2	3266.63			
	216		12	9.14	9.14	83.54			
	217		12			840.98			
	218	Layout in Sy.No. 26/1 of Kadubeesanahalli	1	33	14	462	Yes		Vacant proposed for KPTCL
		TOTAL				691333.32 Sqmt OR 170.84 Acres			

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
				CA Sites o	of Private Layou	ut			
1	1	Reliaable Lake dew Phase 1 formed at Haralur Village, Varthur Hobli	1	<u>35.97 + 4.26</u> 2	<u>32.62 +9.15</u> 2	184.22	Yes		Notified for allotment & Allotment is under process, physically vacant
	2		2	27.745+27.74 2	<u>42.68+42.68</u> 2	1184.91	Yes		- do -
	3		3	<u>31.09+16.15</u> 2	87.63	1959.08	Yes		- do -
2	4	Reliaable Lake dew Phase 2 formed at Haralur Village, Varthur Hobli	1	<u>12.9+12.6</u> 2	<u>10.67+10.67</u> 2	136.04	Yes		- do -
	5		2	<u>27.46+27.66</u> 2	<u>68.62+63.78</u> 2	1819.62	Yes		- do -
	6		3	<u>8.27+10.21</u> 2	<u>18.62+18.33</u> 2	164.72	Yes		- do -
	7		4	<u>42.37+28.96</u> 2	<u>21.34+21.95</u> 2	707.93	Yes		- do -
	8		5	<u>12.06+9.81</u> 2	<u>73.53+71.74</u> 2	794.26	Yes		- do -
3		Reliaable Lake dew Phase 3 formed in Sy.No. 76/3 and others at Haralur Village, Varthur Hobli	1	½ x 62.31	13.71	427.14	Yes		- do -
	10		2	<u>8.91+14.43</u> 2	<u>40.09+41.95</u> 2	478.70	Yes		- do -
4	11	Reliaable Tranquil formed at Haralur Village Varthur Hobli	1	9.0+8.30 2 10.30+7.2 2	<u>11.50+13.30</u> 2 75.00+74.0 2	999.48	Yes		Applied for Modified Layout Plan
5	12	Reliaable Woods formed at Arlur Village Varthur Hobli	1	33.00x26.32	34.50+15.00	1386.36	Yes		Notified for allotment & Allotment is under process, physically vacant
	13		2	22.12	45.00	995.83	Yes		Vacant
6		Concorde Cilicon valley formed in Sy.No.85(P), 164(P) and 166(P) of Doddathogur Village, Begur Hobli, Blore South Taluk	1	<u>4400+14.34</u> 2	<u>68.00+83.00</u> 2	2202.60	Yes		Vacant
	15		2	Odd Shape		2452.50	Yes		Vacant
7		Residential Layout formed in Sy.No.108 of Doddathogur Village, Begur Hobli, Blore South Taluk in F/o Tony Vincent		17.59	18.49	325.16	Yes		Vacant
8		Residential layout for Celbrity Classic Housing formed in Sy.No. 110(P) Doddathogur village, Begur hobli, Blore South Tq.	1	40.00	<u>7.7+27.00</u> 2	694.00	Yes		Vacant

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
	18		2	13.00	17.00	221.00	Yes		Vacant
9		Celebrity Paradise layout formed in Sy.No.79/1, 79/4, 93/1-2, 94/2-3-4-5 and 94/6 of Doddathogur village Begur hobli, Blore South Tq	1	<u>60.60+75+40.8</u> <u>0</u> 3		4622.00	Yes		Vacant
		Residential layout formed in Sy.No 27/1,2,3 and 4 Begur village Begur hobli, Blore South Taluk	1	21.85	73.10	1597.40	Yes		Vacant
11		Residential layout formed in Sy.No 51 to 59, 60/1,2,3,4, 61/1,2 of basapura Village, and Sy.No.140/2 144, 146 of Begur Village Blore South Tq	1	55.55+53.34 2	28.19+30.23 2	1557.75	Yes		Vacant
12	22	Residential Layout at Kannamangala Sy.No. 198 and 199 of Kannamangala Village, Allaiance Housing Society	1	61.50+10.00 2	54.43+50.56 2	1601.00	Yes		do
13	23	Residential Layout Chaitnya Samarpan at Sy.No. 154/1 and 155 of Kannamangala	1	Odd site		9192.58	Yes		do
		Red stone Residential layout at Sy.No. 24/4, 24/7A, 7B, 7C, 24/8,9,10 of Seegehalli Village, Bidarahalli and Sy.No. 151/1, 151/2 of Kannamangala Village	1	24.00+25.50 2	<u>75.00+85.00</u> 2	1976.25	Yes		do
		Air force Naval housing board Benniganahalli, Sy.No. 29, 30 and 32 of Bennigahalli, KR Puram		Odd Shape		2884.88	Yes		do
16		Residential Layout in Sy No. 203/P of Kadugodi village, Bidarahalli hobli, Bangalore East Taluk.		Odd Shape		167.32	Yes		do
17		Residential Layout for AECS Ltd., in Sy. No. 7/1,2,3,4,5,6, 7/8, 8(P), 9/1, 28, 29/1,2, 30/1,2, 31/1, 37, 38/1,2,3, 39/2,4,5, 40, 41/1, 42/1,2, 43, 44/1(P), 44/1B,1C,1D, 45, 46, 46/2 of Kudlu Village, Sarjapura Hobli, Anekal Taluq and Sy Nos. 6/1,2, 8/1,2,3,4,6, 10/1,3, 15/1(P), 2P, 17(P), 18, 19, 21/1,2,3, 22/1,2, 23/1to11,12,13, 25/1to6, 26/1,3, 27/1A,1B,2, 28/1A,1B,2to5, 29/1,2, 30/1,2, 31, 32/2,3, 36, 38, 39, 43/1, 44/1to6, 46, 61/1,2, 62, 63, 64(P), 67/1,2,3, 68/1, 72/1,2,4, 73, 74, 75/1to9, 76/1(P),3,4, 77/1,2,3,5,6, 78, 79/1to8, 80, 81/1,2A,2B,2C, 81/3A,3B, 83, 84, 85, 91/1(P),2, 94/1,2, 95, 96/1(P),2,3, 97/1B, 97/2, 102/1,2, 103/1,3,4, 103/6(P), 104/2, 105/1(P), 105/3, 106/1,2,5,6 and 109 of Singasandra village, Begur Hobli, Bangalore South Taluk.	1	Odd Shape		294.84	Yes		Vacant
	28		2	Odd Shape		35.35	Yes		do
	29		3	Odd Shape		930.45	Yes		do
18	30	Residential Development Plan in Sy No. 53/1P & 54/P of Kasavanahalli village, Varthur Hobli, Bangalore East Taluk.		Odd Shape		1821.07	Yes		do
	31	Residential Layout in Sy No. 22/2, 23/1P & 24/2P of Sadaramangala village, K.R.Puram hobli, Bangalore East Taluk.		Odd Shape		832.70	Yes		do
20	32	Residential Layout in Sy No. 91/2 of Belathur village, Bidarahalli hobli, Bangalore East Taluk.		Odd Shape		425.73	Yes		do

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
21		Residential Layout in Sy No. 5/1,2,3, 6/1,2, 17/1,2,3, 18/1,2,3, 19/1,3 & 20 of Kurudu Sonnenahalli village, Bidarahalli hobli, Bangalore East Taluk.	1	Odd Shape		449.58	Yes		do
	34		2	Odd Shape		372.81	Yes		do
	35		3	Odd Shape		488.04	Yes		do
	36		4	Odd Shape		350.77	Yes		do
22	37	Residential Development Plan in Sy No. 352/1(P), 352/3(P), 352/4(P), 352/8(P), 354/1, 354/2, 355, 356/1, 356/2, 356/3, 356/4A, 356/4B, 356/5, 356/6, 357/4(P), 357/5, 357/8, 358/1, 358/2, 358/3, 358/4(P), 359(P), 360/1(P), 360/2(P) & 371/2(P) of Begur village, Begur hobli, Bangalore South Taluk		Odd Shape		5578.27	Yes		do
23		Residential Development Plan in Sy No. 2/1P, 3/1BP & 4/P of Sadaramangala village, K.R.Puram hobli, Bangalore East Taluk		Odd Shape		1467.50	Yes		do
24	39	Residential Development Plan in Sy No. 2/1B & 2/1C of Whitefield village, K.R.Puram hobli, Bangalore East Taluk.	1	Odd Shape		1624.76	Yes		do
	40		2	Odd Shape		2025.00	Yes		do
25	41	Residential Development Plan in Sy No. 21/P & 53/1 of Jakkasandra village, Begur hobli, Bangalore South Taluk and Site No.1 Koramangala Industrial Layout.		Odd Shape		1600.53	Yes		Vacant
26	42	Residential Development Plan in Sy No. 42, 157/P & 160 of Pattandur Agrahara village (Sy No. 2/1B of Whitefield village, K.R.Puram hobli, Bangalore East Taluk.		Odd Shape		1497.34	Yes		do
27	43	Residential & Non-Residential (Commercial) Development Plan in Sy No. 70,71,72,73,74/1,74/2,77/1A, 77/2A, 78/1, 77/1B, & 77/2B of Sadaramangala village & Sy No 129/2 & 130/P of Hoodi village, K.R.Puram Hobli, Bangalore East Taluk.	1	Odd Shape		19224.28	Yes		do
	44		2	Odd Shape		2613.98	Yes		do
	45		3	Odd Shape		3262.01	Yes		do
	46		4	Odd Shape		2223.60	Yes		do
28	47	Residential Development Plan in Sy No. 60/1B, 60/1B2 & 63/1B of Pattandur Agrahara village, K.R.Puram hobli, Bangalore East Taluk.		Odd Shape		1164.13	Yes		do

	SI No.	Name of the Layout	CA Site No	North - South	East - West	Area	Actually in Possession of BDA	Not in Possession of BDA	Remarks
29	48	Amarjyothi Layout, Domlur	1	Odd Shape		3189.50	Yes		Area of 1113 Sqm has been allotted to Jawaharlal Nehru Education Trust & balance land is under court litigation vide No. OS 1089/02
	49		2	Odd Shape		2327.78	Yes		Land is earmarked for School & Construction of Overhead Water Tank, now land is physically vacant on demand of public the land is handed over to Residential Welfare Association for Maintenance & Beautification as park.
	50		3	Odd Shape		1000.00	Yes		Allotted to BWSSB for construction of wet well.
30	51	MCHS Layout, Sector-4 of HSR layout		Odd Shape		1275.00	Yes		Allotted to Petrol Bunk
		TOTAL				97807.75 Sqmt OR 23.92 Acres			

C.A SITE DETAILS PERTAINGS TO SOUTH DIVISION, BANGALORE DEVELOPMENT AUTHORITY

B.D.A LAYOUTS

			Dimen	sion	Area in Sq.	Allo	tment Details		Remarks
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
1	J.P.Nagar 8th Phase Ist Block	5	(28+22+18.50- 0x 111.		2430.00	Jayanagar Association Bangalore	Cultural Activities	-	-
2	J.P.Nagar 8th Phase II Block	6	(52.0+43.0)/2	85	4037.50	Allotted to J.S.S. Maha Vidya Peeta	-	-	-
3	J.P.Nagar 8th Phase II Block	8	(31.0+44.0)/2	102	3825.00	Jamiya Maszid & Charitalbe fund trust	Education	-	-
4	J.P.Nagar 8th Phase III Block	1	(117.50+138.5 0)/2	(104+90.50)/2	12448.00	-	Bus Depot	-	OS.No.8827/9 6 case is pending Area earmarked for Bus depot
5	J.P.Nagar 9th Phase Sy.No.4/1 alahalli	1	-	-	743.20	BBMP	Health Center	Vacant	-
6	Anjanapura Town Ship Block II	1	-	-	700.00	Koramangala Kalaniketan Education society	Educational Institution	Vacant	-
7	Anjanapura Town Ship II Block	1/A	-	-	-	Not allotted	-	Vacant	-
8	Anjanapura Township II Block	2	-	-	585.00	Green land medical centre	Health Center	-	-
9	Anjanapura Township III Block	3	-	-	1944.00	Not allotted	Water Supply board	-	
10	Anjanapura Township III Block	4	-	-	477.50	KJ Ecucation Society	NS & PS	-	-

			Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
11	_do_	5	-	-	3000.00	-	Rajeev Gandhi Housing Corporation	School	-
12	Anjanapura Township III Block	5/A	-	-	280.44	Not allotted	BSNL	-	-
13	_do_	5/B	-	-	303.81	Not allotted	-	-	-
14	Anjanapura Township IV Block	6	30	10	300.00	Flourence English NS & PS	NS & PS	School	-
	Anjanapura Township VII Block	7	-	-	250.00	Raju Education Association	NS & PS	School	-
16	Anjanapura Township VII Block	8	-	-	16000.00	Not allotted	BDA Commercial Complex	Vacant	-
17	Anjanapura Township VII Block	8A	-	-	15000.00	-	KPTCL	Vacant	-
18	Anjanapura Township VIII Block	9	-	-	748.00	Not allotted	Hospital	Vacant	Notified vide Notification No.903/04- 05date:28.01.2 005
19	Anjanapura Township VIII Block	9A	-	-		-	-	-	-
	Anjanapura Township V Block	10	-	-	1389.75	Not Allotted	High School	Vacant	-
21	Anjanapura Township V Block	11	-	-	310.00	Nehru Vidya Kendra Kannada NS & PS	NS & PS	Vacant	-

			Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
22	Anjanapura Township V Block	12	-	-	2144.00	Allotted to St. Pauls School	School	Vacant	Alltted to St.Pauls school & further file is send to DC for want of clarification land as Mazare
23	Anjanapura Township V Block	13	-	-	2300.00	-	Bus Terminal	Vacant	-
24	Anjanapura Township VI Block	13A	-	-	2717.18	-	Existing Temple	Vacant	-
25	Anjanapura Further Extension X Block	14	-	-	7654.00	BMTC	Bus Terminal	Vacant but an structure of compound wall	-
26	Anjanapura Further Extension X Block	15	-	-	600.00	Post Office	Post office	Vacant	-
27	Anjanapura Further Extension IX Block	16	-	-	728.00	Not Allotted	-	Vacant	-
28	Anjanapura Further Extension IX Block	17	-	-	870.00	BBMP	Gymnasium	Vacant	-
29	Anjanapura Further Extension XI Block	18	-	-	2606.17	Not Allotted	Hospital	Vacant	-
30	Anjanapura Further Extension X Block	19	-	-	1180.00	Kaimagga & Javali Nigama	Javali Bhavan	Vacant	-

			Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
31	Anjanapura Further Extension XI Block	20	-	-	1320.00	Not Allotted	-	Vacant	-
32	Anjanapura Further Extension IX Block	21	-	-	200.00	Not Allotted	-	Vacant	-
33	Anjanapura Further Extension IX Block	22	-	-	468.00	Not Allotted	-	Vacant	-
34	Anjanapura Further Extension X Block	23	-	-	1619.57	Lalitakala Academy	Academy	Vacant	-
35	Anjanapura Further Extension X Block	24	-	-	5780.00	Not Allotted	-	Vacant	-
36	Anjanapura Further Extension X Block	25	-	-	3150.00	Physically handicapped welfare dept.	Hostel and training centre	Vacant	-
37	Anjanapura Further Extension X Block	26	-	-	690.00	Not Allotted	-	Vacant	-
38	Anjanapura Further Extension XI Block	27	-	-	200.00	Not Allotted	-	Vacant	-
39	Anjanapura Further Extension XI Block	28	-	-	638.00	Not Allotted	-	Vacant	-
40	SY NO 13/2 SUNKENAHALLI I STAGE	12	-	-	277.00	BHAJANA MANDIRA	BHAJANA MANDIRA	Bhajana Mandir functioning	
41	BSK III STAGE III PHASE	8	-	-	1795.50	PONNAIAH LALITHA KALA ACODEMY	ART & CULTURAL CENTER	functioning	

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
42	BSK III/II/IV	10 &B	-	-	772-99	PANCHAVATI VIDYA MANDIR	KANNADA MEDIUM NURSERY SCHOOL	Vacant	
43	BSK III STAGE ITI HBCS KATHRIGUPPA	2(P)	-	-	3186.49	LITTLE FLOWER EDUCATION SOCIETY	SCHOOL	Purpose utilized	
44	BSK III STAGE III PHASE SY NO 95,96,121 & 122 OF (HSK)	1	-	-	2754.00	HOYSALA TRUST	STUDENT HOSTEL	Hostel building existing	
45	BSK III STAGE III PHASE SY NO 95,96,121 AND 122 OF HSK	1	-	-	2754.00	SREE VEMANA CHARITABLE TRUST	STUDENT HOSTEL	Building existing	
46	BSK III STAGAE AVALAHALLI		15	20	300.00	MOTHER DAIRY KMF	MILK DISTRIBUTIO NS	Existing	
47	SY NO 95,96,121 AND 122 OF HOSKEREHALLI BSK III STAGE		-	-	28.06	MOTHER DAIRY KMF	MILK DISTRIBUTIO NS	Existing	
48	BSK III STAGAE IV BLOCK	1	-	-	39.36	MOTHER DAIRY KMF	MILK BOOTH	Existing	
49	BSK (AVALAHALLI)		-	-		KPTCL	Sub station	Sub Station functioning	
50	BSK III/IV (KGP EAST)	1	-	-	1794.30	BHAGIRATHA UPPARA DHARMIKA TRUST	COMMUNITY HALL / HOSTEL CULTURAL & EDUCATION BUILDING	Building existing	

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
51	PALAGRARA GRAMASTARA SRI RAMA UNION	97,98,99	40	60	2400.00	98 AND 99 SUNKENAHALLI SY NO 31 AND 32 OF HANUMANTHA NAGAR	UNION	building under construction	
52	J P NAGAR I PHASE	40	165	220	36300.00	CHILDRENS EDUCTION SOCIETY ®	NURSRY AND PRIMARY SCHOOL	functioning	
53	J P NAGAR I PHASE	40(P)	200	199	39800.00	CHILDRENS EDUCTION SOCIETY ®	SCHOOL BUILDING	this CA site is alloted as play ground & play ground existing	
54	SARAKKI II PHASE	27 PART 2	-	-	176'+190', 120+176/2 1/2 176+280/2	RAGIGUDDADA SRI PRASANNA ANJANEY SWAMY BHAKLA MANDALI TRUST	BHAKTA MANDALI	Temple existing	
55	SRK II PHASE	36/2(P)	-	-	1354.50	SANKETH TRUST	THEATRE OF FINE OF ARTS	Theater is existing	
56	SARAKKI III PHASE	1/B	-	-	640'+680'/2 233+0'	SRI RAMANA MAHARSHI ACADEMY FOR THE BLIND	INSTITUTION BUILDING	Institution functioning	
57	SRK IV PHASE DOLLARS LAYOUT		-	-	1890.00	NEW COSMO VIDYA SAMSTE	ENGLISH MEDIUM SCHOOL	School functioning	

GL NO	N. G		Dimen	sion	Area in Sq.	Alle	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
58	SY NO 40 MARENAHALLI		-	-	2349.00	CITY JETTY COMMUNITY DODDA GARADI AND SRI NIMBAJA DEVI TEMPLE TRUST BVK IYENGAR ROAD	SOCIAL AND CULTURAL ACTIVITIES	This CA site was encroched earlier. The encroachment was removed and vacant CA site handed over to the community during 2009 & they have submitted the building plan for approval	
59	SARAKKI	37	565	440	248600.00	RASTREEYA SHIKSHANA SAMSTE TRUST	COLLEGE BUILDING	college functioning	
60	J P NAGAR IV PHASE		58	85	4930.00	SHREE ANANDA MAYEE TRUST	BHAGWATH BHAVAN	Bhagavan Bhavan is existing	
61	SRK V PHASE	13	-	-	278'+291'/2X4 7'+83/2	A V EDUCTION SOCIETY	HIGH SCHOOL AND COLLEGE	college functioning	
62	SRK VI PHASE	10	-	-	250'+269'/2X9 6'+160'/2	NAVEEN VIDYA MANDIRA TRUST	SCHOOL	to be verified	
63	J P NAGAR I PHASE		-	-	743.00	BANGALORE MAHANAGARA PALIKE (HEALTH CENTER)	HELTH CENTER	Existing	
64	J P NAGAR III PHASE	CA 'A'	-	-	1507.75	INDIRA PIYADARSHINI	SCHOOL BUILDING	School building functioning	

	N (1)		Dimen	sion	Area in Sq.	Allo	tment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
65	SRK III PHASE	1) 2) 31 3)	-	-	1)140.51 2) 780.00 3)72'+12.51/2	SHANESWARA SWAMY BHAKA MANDALI	PARK AND TEMPLE CHARIOT & TEMPLE ACTIVITIES	Existing	
66	BSK III/IV/VIII BLOCK		-	-	3244.15	BANASHANKARI MEDICAL AND ANCOLOGY RESERCH CENTER	HOSPITAL	Vacant	
67	BSK III/III/IV STAGE	2	-	-	3326.86	BTL EDUCATION TRUST FOR RURAL DEVELOPMENT	KANNADA MEDIUM SCHOOL FILM WORK SHOP	School functioning	
68	JAYA NAGAR I AND III EAST BLOCK	2	-	-	1/2	VASAVI VEDHA NIDHI	VEDHA PATA SHALA BUILDING	Existing	
69	JAYANAGAR IV BTB AREA	1 A	45	39	1755	MARIYAMMA TEMPLE	TEMPLE	Existing	
70	J N VII BLOCK	11/A	-	-	119'+143X2,28 6'	AYURVEDA PRATHISTANA	COLLEGE BUILDING	Partially buillding constructed	
71	J N VII BLOCK	3 & 4	-	-		CHANNAMMA MEMOURIAL SCHOOL	WITH DRAWAL LETTER	functioning	
72	J N VII BLOCK	244/D	-	-	60'X80'	ADARSHA VANITHA SAMAJA	VANITHA SAMAJA	functioning	
73	J N IV BLOCK		-	-	140+880'/2X1 20'+95'/2		CULTURAL ACTIVITIES	functioning	
74	J N IV 'E' BLOCK	5	-	-	200+220'/2	CHRISTU PRABHALAYA	CHURCH	functioning	

			Dimen	sion	Area in Sq.	Alle	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
75	J N VII BLOCK	244/A	100	165	16500	BANGALORE UNIVERSICTY	GENERAL HOSTEL	functioning	
76	J N IV BLOCK	22	120	102	12240	VIJAYA VIJNANA SHALA	SAMITHI	functioning	
77	J N II BLOCK		107	200	21400	SREE RAMA TRUST COMMITTEE	SREE RAMA VIDYA MANDIR SCHOOL AND KAYANA MANTAPA	functioning	
78	J N VII BLOCK		-	-	268'-6X110'-0	SOCIAL WELFARE OF KARNATAKA	HOSTEL BULDING	functioning	
79	J N IX BLOCK		-	-	35-11	НОРСОМЅ	FRUITS & VEGITABLE STALL	functioning	
80	J N IV BLOCK	5	200	80	16000	SANATHANA KALA KSHETRA	ARTS EDUCATION AND CULTURAL ACTIVITIES	Building constructed in a corner position. Rest of the site is vacant. The site is cancelled but there is a court stay order	
81	J N IV BLOCK	1	-	-	210'+86'/2	SRI RAJASTAN JAIN SWETHAMBAR MURUTHI POOJK SANGHA	TEMPLE HOSTEL DHARAMASH ALA QUARTES AND ASHRAM	functioning	
82	J N IV BLOCK	4	100	80	8000	MODEL EDUCTION SOCIETY	SCHOOL BUILDING	functioning	

			Dimen	sion	Area in Sq.	Allo	otment Details		D 1
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
83	JAYANAGARA BOVI COLONY BYRASANDRA VILLAGE	40	-	-		MAHAGANAPTHY DURGADEVI TRUST	MAHAGANPA THI DURGADEVI TRUST	functioning	
84	JAYANGAR III BLOCK	22	-	-	6781	COSMO POLITIAN CLUB	OUT DOOR ACTIVITIES	functioning	
85	J N V BLOCK	1) 523 2)	-	-	1) 150'X102' 2) 150'X100'	SRI KRISHNA SEVA ASHRAM TRUST	HOSPITAL	functioning	
86	J N II BLOCK	29	99	120	11880	SRI RAMA SEVA SAMITHI	SAMITHI & KALYANA MANTAP	functioning	
87	J N V BLOCK	525	150	100	15000	SRI LAKSHMI VENKATESWARA KAIGARIKA SAHAKARA SANGHA	FOR WHICH ALLOTTED TO EARLIES	Building existing	
88	J N I BLOCK		-	-	529,1/2 SQ	RANI SARALADEVI EDUCTIONAL INSTITUTE	SCHOOL BUILDING	functioning	
89	J N II BLOCK		-	-	4112	KUCHALAMBA CHOULTIES	KAYANA MANTAPA	Existing	
90	J N IV T BLOCK	2/B	-	-	85'X100'	PATTABHI RAMA SEVA MANDALI	BAJANA MANDIR AND KALYANA MANTAP	Existing	
91	J N IV T BLOCK	2	-	-	1560.76	RASTREEYA SHIKSHANA SAMITHI TRUST	HOSTEL	Existing	
92	BTM II STAGE I PHASE	2	-	-	1820	MODEL EDUCATION SOCIETY	SCHOOL	functioning	
93	BTM II STAGE I PHASE	3	-	-	656.75	BTM LAYOUT WELFARE ASSOCATION	TEMPLE BULIDING	Temple existing	

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
94	BTM I STAGE I PHASE	6	-	-	1416.10	PUBLIC EDUATION SOCIETY	HIGH SCHOOL	School running	
95	BSK III (CKA)	-	-	-	1524.48	SREEKANTESWARA TEMPLE TRUST	TEMPLE	Temple existing	
96	JAYANAGAR V BLCOK	524	-	-	100'X150'	RAGHAVENDRA SWAMY, BRUNDAVANA SANNIDHANA	INSTITUTION BUILDING	Temple existing	
97	J.P.NAGAR II PHASE	36/A	-	-	3969	INSFREE HIGHER SCHOOL	SCHOOL	functioning	
98	SY NO 120 OF KGP VILLAGE BSK III STAGE		-	-	80'+67'/2X140 '	POORNA PRAJNA VIDYA PEETA	PUSHKARANI AND FLOWER GARDEN	Purpose utilized	
99	BSK III (HSK)	1	-	-	1956.72	LITTLE FLOWER PUBLIC SCHOOL	SCHOOL	School functioning	
100	BSK III STAGE II PHASE	6	-	-	1849.60	AUDEN INSTITUTE OF EDUCATION	SCHOOL	functioning	
101	BSK III STAGE III BLOCK SY NO 95,96 121 AND 122 OF HOSAKERE HALLI	1(P)	-	-	1473.12	TELE COM DIST	TELEPHONE EXCHAGE	Existing	
102	SY NO 19 TO 25 AND PART OF BSK III STAGE		-	-	1319.47	BANGALORE TELEPHONE DIST	TELEPHONE EXCHAGE	Existing	
103	BSK III/II /VII BLOCK		15	20	300	HOPCOMS	FRUITS & VEGITABLE STALL	Existing	

			Dimen	sion	Area in Sq.	Alle	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
104	BSK III STAGE II PHASE	5	147	105	15435	KHAMMAVARI SANGHA	HOSPITAL	Kalyana Manatapa has been constructed for violation site has been cancelled but Hospital & Kalyana Mantapa existing	
105	BSK III STAGE III PHASE	8	20	12	240	HOPCOMS	FRUITS & VEGITABLE STALL	Existing	
106	BSK III (CKA)	8	-	-	26.83	KMF	MILK BOOTH	Existing	
107	BSK III STAGE		-	-	743.20	BANGALORE MAHANAGARA PALIKE(IPP)	DISPENSARY	Vacant at spot	
108	KATHRIGUPPA LAYOUT		-	-	743.20	BANGALORE MAHANAGARA PALIKE(IPP)	HEALTH CENTER	Vacant at spot	
109	BSK III/II/VII BLOCK	5	-	-	1306.12	GIRI NAGAR POLICE SATION	POLICE STATION	it is learnt that site has been cancelled. Recently they have submitted the building plan for sanction	

			Dimen	sion	Area in Sq.	Allo	tment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
110	SY NO 31 AND 32 OF SUNKENA HALLI HANUMANTHA NAGAR		-	-	2533.33 SQ	BALAJI VIDYA NIKETHAN	SCHOOL BUILDING	Purpose utilized	
111	BSK III/II/III BLOCK	4	-	-	3741	PUBLIC INSTRUCTION DEPT	APEX LEVEL INSTITUTE	(to be verified)	
112	BSK III (HSK)	3(P)	-	-	19747	DDPI	GOVT SCHOOL	Center Govt. building is existing	
113	SUNKENAHALLI	145	-	-	175+162'/2X9 4+75'/2	KAMMAVARI SANGHUM	HOSTEL AND KALYANA MANTAPA	Purpose utilized	
114	SY NO 19 TO 25 AVALAHALLI OF BSK III STAGE		100	103	10300	DADA AMAR CHARITABLE TRUST	SCHOOL	it is observed that BBMP has developed has a park & constructed auditorium	
115	SY.NO.69 GAVIPURA		-	-	2967.00	MAGAJI DONDUSA CHOULTRY	CHARITIES BUILDING	it is learnt site has been cancelled & court stay order	
116	BSK III STAGE (HSK)	5	-	-	691.77	SRI RAMA LALITHA KALA MANDIR	REE RAMA LALITHA KALA MANDHIR AND STAFF QUARTS	to be verified	

			Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
117	BSK III STAGE (HSK)SY.NO.95,96,12 1&122	3	-	-	600.00	BANASHANKARI SRI SARVAJNA SEVA BALAGA	SREE RAGHAVAND RA SWAMY TEMPLE	Temple Existing	
118	SY.NO.3 GAVIPURA VILLAGE BHAVANI NAGAR		-	-	175'+167'/2'X 160'+184'/2	AMBA BHAVANI SEVA SANGHA	TEMPLE	Temple Existing	
119	12/D,12/E,13/D,13/ E,SY.NO.72 OF GAVIPURA		37	40	1480.00	VENKATESWARA BHAJANA MANDIR	BAJANA MANDIR	Bhajana Mandir functioning	
120	SY.NO.42&43 OF BSK III STAGE		-	-	109'+81/2 'X133'+115'/2	VINAYAKA EDUCATION SOCIETY	SCHOOL	to be verified	
121	BSK III STAGE SY.NO.95,96,121,&12 2 OF HSK	1	-	-	3419.46	KESHAVA TRUST	HOSPITAL	Hospital is existing	
122	BSK 3 STAGE, MUNESHWARA BLOCK		-	-	3001.00	BTS	BUS TERMINAL	Existing	
123	BSK 2 ITTAMADU	1	-	-	1094.00	KEB	OFFICE BUILDING	Existing	
124	J P NAGAR II PHASE I ST AND IST A CROSS		-	-	3124.92	MOBILITY OF INDIA	HOSPITAL REHABITITA TION CENTRE	Existing	
125	J P N II PHASE	36(P)	-	-	2480.00	DEPT OF YOUTHS & SPORTS YOUTH CENTER	SPORTS COMPLEX	Existing	
126	J N VIII PHASE I BLOCK	5	-	-	2430.90	JAYANAGAR ASSOCIATION	SOCIAL AND CULTURAL ACTIVITIES	Building constructed	
127	J P NAGAR II PHASE	36(P)	43	31.50	1354.5	SATYA SAI TRUST	CULTURAL ACTIVITIES	functioning	

			Dimen	sion	Area in Sq.	Allo	otment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
128	SRK II PHASE		-	-		VOKKALIGARA SANGHA	Sangha	Existing	
129	J P NAGAR II PHASE	18(P)	-	-	1512	VOKKALIGARA SANGHA	HOSTEL	Existing	
130	J P NAGAR I PHASE		-	-	28.06	HOPCOMS	FRUITS & VEGITABLE STALL	Existing	
131	J P NAGAR III PHASE		20	15	300	HOPCOMS	FRUITS & VEGITABLE STALL	Existing	
132	J P NAGAR 2 PHASE		-	-	28.06	HOPCOMS	FRUITS & VEGITABLE STALL	Existing	
133	SRK 3 PHASE	12/B	-	-	42.50X50+52M /2	BANGALORE TELECOM DIST	TELEPHONE EXCHAGE	Existing	
134	JP NAGAR 3 PHASE		-	-	1063.30	SAINT PAUL'S ENGLISH SCHOOL	HRBAL GARDEN	Herbal garden not formed, instead used as a play ground	
135	JP NAGAR 2 PHASE	36(P)	-	-	1354.00	COMMISSIONER OF POLICE	POLICE STATION	Existing	
136	JP NAGAR 2 PHASE	23(P)	-	-	929.03	ANIMAL HUSBANDRY & VETEVNARY SERVICE	VENTERNARY HOSPITAL	it is converted in to a park & handed over to BBMP	
	JP NAGAR 4TH PHASE DOLLARS SCHEEM LAYOUT		-	-	2023.00	KARNATAKA CHINMAYA SEVA TRUST	TRUST ACTIVITIES	functioning	
138	SRK 4TH PHASE DOLLARS LAYOUT		-	-	1050.00	CHRISTU KRUPALAYA	CHURCH OF SOUTH INDIA TRUST ASSN	functioning	

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
139	JP NAGAR 3 PHASE	20	100	60	6000.00	SUPDT OF POST OFFICE	POST OFFICE	to be verified	
140	JP NAGAR 5TH PASE	3	-	-	692.96	J P NAGAR II PHASE RESIDENTS WEL FARE AND CULTURAL ASSOCIATION	RESIDENT RECREATION CENTER	functioning	
141	JP NAGAR 4 PHASE	18	330	330	108900.00	VASAVI EDUCATION TRUST	SCHOOL	Purpose utilized	
142	SRK 2 PHASE	27	-	-	18500.04	RAGIGUDDADA SRI PRASANNA ANJANEY SWAMY BHAKLA MANDALI TRUST	KALYANA MANTAP	functioning	
143	J P NAGAR 6TH PHASE	11	140	130	18200.00	NATIONAL SOCIETY FOR OPPORTUNILIES FOR THE HANDICAPPED	SCHOOL BUILDING	Kashi Vishwanatha Temple is existing in one end. The rest of the land is vacant	
144	SRK 3 PHASE	1/A	-	-	16160.00	SHREE SHIVA BALAYOGI MAHARUTA TRUST	SHIVA BALA YOGI MAHA RATHA TRUST	functioning	
145	JP NAGAR 1 PHASE	4	-	-	1302.00	KEB	SUB DIV OFFICE AND QTRS	functioning	
146	JP NAGAR 1 PHASE & 1 A CORSS		-	-	805.30	SAMATVAM SCIENCE AND REASERCH FOR HUMAN WELFARE TRUST	EASTABLISHI NG CENTER	functioning	

			Dimen	sion	Area in Sq.	Allotment Details			Remarks
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
147	JP NAGAR 8TH PASE 2 BLOCK	8	-	-	3825.00	JAMIA MASJID AND MUSLIM CHARITABLE FUND TRUST	EDUCATIONA L INSTITUTION	site is vacant	
148	J P NAGAR 2 PHASE	43	-	-	3422.40	JP NAGAR CLUB	CLUB ACTIVITIES	Functioning	
149	JAYANAGAR 4 BLOCK	5	-	-	1333 ¹ / ₃ SQFT	RASTROTHANA PARISHAT	RESERCH CENTER LIBREARY READING ROOM STUDENT HOSTEL	functioning	
150	JAYANAGAR 4 TH 1 BLOCK		-	-	10190.21	BANGALORE HIGHER SECONDARY SCHOOL	SCHOOL	functioning	
151	JAYANGAR 1 BLOCK	170/A	-	-	1012.00SQMT R	SARASWATHI VIDYA MANDIR ASSON	School	functioning	
152	JAYANAGAR 1 BLOCK	141	46	90	4140.00	JAYANGARA STRI SAMAJA	ACTIVITIES OF SAMATHA	functioning	
153	JAYANAGARA 8TH BLOCK	192/A	120	80	9600.00	JAYARAMA SEVA MANDALI	COMMUNITY CENTER	functioning	
154	JAYANAGARA 6TH BLOCK		-	-	7800SFT	PRABATH PRATHISTANA	ART & CULTURE	this is handed over to the BBMP as park	
155	JAYANGAR T BLOCK	524	100	180	18000.00	RAGHAVENDRA SWAMY MUTT NANJANAGUDU	RAGHAVEND RA SWAMY BRUN	functioning	

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
156	JAYANAGAR 8TH BLOCK	27/B	-	-		DR AN BALASUBRAMANYAN	NURSING HOME	functioning	
157	JAYANGARA 4TH BLOCK	20/A	-	-	4444.4SQFT	BANGALORE TELEPHONES	TELEPHONE EXCHAGE	functioning	
158	LALBHAG SIDDAPURA		-	-	100+130.0/2X 33	HARTICULTURE DEPT	PRIMARY SCHOOL BUILDING	functioning	
159	JAYANAGAR IV T BLOCK	3 & 3/A	-	-	190'.0X100'+3 61/2	HALLIKARARA SANGHA	COMMUNITY HALL	Gayathri Temple is existing, no community hall existing	
160	JAYANAGAR IV T BLOCK	11	-	-	1540.50	RASTREEYA SHIKSHANA SAMITHI TRUST	HEALTH CENTER	Existing	
161	JAYANAGAR IV T BLOCK	17	-	-	11050.74	RASTREEYA SHIKSHANA SAMITHI TRUST	ENGLISH MEDIUM SCHOOL	functioning	
162	JAYANAGAR III BLOCK	2	-	-	1) 492.97 2) 21.50 SQM	KARNATAKA PRAKRUTHI CHIKISTA PRACHURA TRUST	NATURE CURE HOSPITEL	Existing	
163	JAYANAGAR IV BLOCK	4	-	-	2320.00	YUVAKA SANGHA	SAMITHI BUILDING	functioning	
164	JAYANAGARA VII BLOCK		-	-	21840.00	NATIONAL EDUCATION SOCIETY OF KARNATAKA	PLAY GROUND	Existing	
165	JAYANGARA IV T BLOCK	1	-	-	11375.00	SENIOR SUPTD OF POST OFFICE	POST OFFICE	Existing	

	Nama a GLamat		Dimen	sion	Area in Sq.	Allo	tment Details		Damada
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
166	JAYANGARA I BLOCK		-	-	6750 SQ FEET	MAHA BHODI MAITHRI MANDALA	MEDICAL CENTRE	Medical Centre is Existing (Mallige Nursing Home)	
	JAYANGAR IV T BLOCK	11	-	-	1540.56	KARNATAKA SOCIAL FOURM	YOGA AND OTHER CHARITABLE ACTIVITIES	to be verified	
168	JAYANGAR VII BLOCK	244/C	-	-	802.65	NEHRU SMARAKA VIDYA KENDRA	SCHOOL BUILDING	Existing	
169	JAYANAGA IV T BLOCK	2	-	-	15970.00	RAGHAVENDRA SEVA SAMITHI	SAMITHI BUILDING	Existing	
170	JAYANGAR I BLOCK	315	-	-	2)160'+10/2X	DAKSHINA KANNADA SANATHANA DHARAM SHALA	KALYANA MANTAP FREE DISPENSURS BAJAN MANDIR	functioning	
171	JAYANGAR III BLOCK		450	500	225000.00	VIJAYA EDUCATION SOCIETY	COLLEGE BUILDING	functioning	
172	JAYANGAR VIII BLOCK	27/A	-	-	90'+70'/2X100 '	L S BOREGOWDA	NURSING HOME	small residential building is existing	
173	JAYANGAR VII BLOCK		-	-		THE DIRECTOR OF WEL FARE DEPT	Hostel	Existing	
174	JAYANGAR II BLOCK	406	-	-	40+52/2X54+6 0/2	SARVODAYA INSTITUTE OF ENGINEERING	SCHOOL	Existing	
175	JAYANGAR VII BLOCK	244/B	154	106	16324.00	BANGALORE INSTITUTE OF ENGINEERING	INSTITUTION BUILDING	Building is existing	

			Dimen	sion	Area in Sq.	Allo	tment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
176	JAYANGAR I BLOCK	275	-	-	80+48/2X80	MYSORE STATE CHATADA SHREE VAISHNAVA ASSOCIATION	CANCELLATI ON ORDER ISSUED ON 18.4.1969	Hostel building is running in the back side of the CA site & esisting commercial building constructed in the front is at present vacant	
177	JAYANGAR II BLOCK		-	-	1660.59	COMMUNITY CENTRE	HIGH SCHOOL AND OTHER EDUCATIONA L INSTITUTION S	functioning	
178	JAYANGAR IV T BLOCK	27	-	-	A) 243 B) 243+150/2 C) 190 D)XA)490+475 /2 B0 132(AREA) C) 269 (D) 1/2X187	BHARATH EDUCATION SOCIETY	EDUCATION PURPOSE	functioning	
179	JAYANAGAR VII BLOCK	27/2	-	-	2743.80 SQM	JAYANGAR EDUCATION SOCIETY	PUC AND DEGREE COLLEGE	functioning	
180	JAYANGAR I BLOCK	125	-	-	150+60/2X104	POST OFFICE	POST OFFICE BUILDING	functioning	

	N 64 -		Dimen	sion	Area in Sq.	Allo	tment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
181	BTM EWS LAYOUT	5	-	-	676.33	IDARE SIRATAL MUSTAQEEM TRUST	MOSQUE AND MADARASA	functioning	
182	BTM II STAGE I PHASE	4	-	-	954.45	MANJU DISTRIBUTERS	LPG STATION	functioning	
183	BTM II / I EWS	6	-	-	2590.00	BANGALORE TELECOM DIST	TELEPHONE EXCHAGE	functioning	
184	BTM IISTAGE I PHASE		-	-	27.87	HOPCOMS	FRUITS & VEGITABLE STALL	functioning	
185	BTM II STAGE I PHASE		-	-	1477.26	ВМТС	BMTC BUS BAY	Existing	
186	SY NO 47 OF TAVAREKERE BTM I STAGE I PHASE		-	-	7083.22	MANJISLE MUNTAZIMA MANJIDE MUKKURRAM	IDD GAH MOSQUE	functioning	
187	BTM I STAGE I PHASE TAVAREKERE SY NO 12 & 14	3(P)	68.6	36.58	2509.39	BHARATH PETROLIAM	PETROL BUNK	functioning	
188	BTM I STAGE I PHASE TAVAREKERE SY NO 12 & 14	CA (P)	-	-		BHARATH PETROLIAM	PETROL BUNK	functioning	
189	BTM II MICO HBCS I STAGE	10	-	-	3070.86	CITY CENTRAL LIBRARY	CITY CENTRAL LIBRARY	Vacant at sopt	
190	BTM II STAGE MICO HBCS I STAGE	10(P)	-	-	557.19	INDIAN WATER WORKS ASSOCIATION	OFFICE BUILDING	Existing	
191	BTM IPHASE I STA KEB LAYOUT		-	-	1122.00	SADGURU SAINATHA SEVA SAMITHI ®	COCIAL AND CULTURAL ACTIVITES	Sai Baba temple is existing	

	N. G		Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
192	DR AMBEDKAR SLUM SY NO 95 HSK BSK III STAGE	1	-	-	350.00	GANGA RABINDRANATH TAGORE EDUCATION SOCIETY	SCHOOL	functioning	
193	BTM IV STAGE II BLOCK	19	-	-	661.00	SEETHAMMA MANJAPPA EDUCATIONAL TRUST	SCHOOL	Pertains to East Division	
194	BTM II STAGE I PHASE EWS LAYOUT	3	-	-	1868.25	COMMISSIONER OF POLICE	MICO LAYOUT POLICE STATION	Station existing	
195	BSK III STAGE SY NO 90 OF HSK	2(P)	-	-	908.90	IOC	PETROL BUNK	Running	
196	J P NAGAR II PHASE	36(P)	-	-	1848.48	HPC	PETROL BUNK	the CA site is cancelled & this CA site alloted to ANAKRU foundation, site is vacant at spot, there is a court stay	
197	JAYANGAR IV T BLOCK	12	-	-	1355.62	BPC	PETROL BUNK	Running	
198	BSK III STAGE III BLOCK CKA	5	-	-	1314.04	BANGALORE TELECOM DIST	TELEPHONE EXCHANGE	Existing	
199	BSK III STAGE AVALAHALLI		-	-	659.58	KPTCL	KPTCL OFFICE	Existing	
200	JAYANAGAR IV BLOCK	5	-	-	743.20	HOLY CHRIST EDUCATION SOCIETY	SCHOOL	Existing	

	N. G		Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
201	JAYANGAR 9TH BLOCK		-	-		FLORENCEE ENGLISH SCHOOL	MOSQUE BUILDING	School running	
202	SY NO 10 AND 11 OF TAVARE KERE BTM I STAGE I PHASE		-	-	2411.50	SANJEEVAMMA TRUST	KALYANA MANTAPA	is developed in to a park & handed over to the BBMP	
203	BSK III STAGE	9	-	-	550.34	INDIAN INSTITUTE OF ARCHITECTS	EDUCATION CENTER	Vacant	
204	BSK III STAGE SY NO 95,96,121 & 122 OF HSK	4	-	-	2615.29	ВМР	HEALTH CENTER	Vacant	
205	BSK III STAGE AVALAHALLI	1	-	-		MODEL EDUCATION & WELFARE ASSOCIATION	School		
206	BSK III CKA		-	-	19110.00	ВМТС	BUS TERMINUS	Existing	
207	BTM II STAGE I PHASE		-	-	2566.40	TONTADA SIDDALINGESWARA KAINKARYA SEVA SANGHA	SOCIAL AND CULTURAL ACTIVITES	functioning	
208	JAYANGAR IX BLOCK		-	-	375X324+320/ 2	MYSORE EDUCATIONAL AND WELFARE ASSOCIATION	SCHOOL BUILDING	functioning	
209	JAYANGAR II BLOCK		-	-	1) 450X5002) 11X175 ADDITIONAL LAND	VIJAYA COLLAGE BHS	INTERMEDIA TE COLLEGE	functioning	
210	BASAVANAGUDI SUNKENHALLI	263	-	-	55732 SQM	KALAMANDIR	KALAMANDIR SCHOOL	Purpose utilized	
211	Sarakki 4 phase Dollor layout	CA (P)	-	-	1638	NEW COSMO VIDYA SAMSTE	Play GROUND	Existing	
212	J N IV T BLOCK	17/A	-	-		Р&Т	postoffice	Existing	

	N. 64 .		Dimen	sion	Area in Sq.	Allo	tment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
213	JP NAGAR II PHASE	43	-	-	2366	MOTHER DIARY FOOD PROCESSING LTD. (SAFAL MARKET)	CASH & CARRY SHOP	it is cancelled, it is maintained as a park by BBMP	
214	BSK III STG. CHENNAMMANNA KERE, ACHUKATTU	5	-	-	388.57	SIR M. VISHWESHWARAIAH CO-OP BANK LTD.	BANK	The BBMP started construction of a library building, it was stopped by BDA and present there is a court stay on this site	
215	BSK 3rd Stage	5	-	-	388.57	Sir. M. Vishweraiah Co- Operative Bank	Bank	it is repeated vide Sl. No. 340	
216	BTM 1st stage, 1st Phase	1/A	-	-	1000.00	St. Thomas Acqinas	Education	(Nimhans HBCS) site is vacant	
217	BTM 1st stage, 1st Phase	1/B	-	-	967.43/-	Nimhans	Deemed University	(Nimhans) they have submitted the building plan for santion	
218	BSK 3rd Stage	1/P	-	-	2154.07	Little Flower Public School	Education	functioning	
219	J.P.Nagar 4th Phase	-	-	-	36.60	HOP COMS	HOP COMS	Existing	
220	BSK 3rd Stage	1/C	-	-	3008.55	Saptharshi Foundation Trust	Community hall	Vacant	
221	BSK 3rd Stage	1A	-	-	2000.31	ВМТС	Community Hall	Vacant	
222	BSK 3rd Stage	1B	-	-	2057.20	Vokkaligara sangha	Community hall	Vacant	

			Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
223	BSK 3rd Stage Avalahalli	1 & 2	-	-	2626.70	Bhagavan Mahaveer Jain Trust	Hospital	the building plan is sanctioned by BDA on 30.06.2010 the building to be constructed	
224	BSK 6th stg 7th block	01	-	-	30240.00	BESCOM	Sub Station	Vacant	
225	J.P.Nagar II Phase	23/A	-	-	58.53	Omkara Sathya Sai Trust	Temple	Existing	
226	J.P.Nagar IInd phase	43/(p)	-	-	1268.19	DR.Baba Sahib Ambedkar Edn Society	Community Hall(Res for S.C)	it is learnt that the CA site is cancelled	
227	Sy.No.120 of Katriguppa,BSKIII stage	C.A	-	-	2805.49	OM Shakthi Temple trust	Religious Purpose	Purpuse utilized	
228	JP Nagar 6h Phase	2	-	-	1690.78	Prarthana Edn Society	Kannada Medium School (Res for S.C)	site is vacant	
229	JP Nagar III Phase	16	115	194	22310	Sarakki Edn Society	Nursery / Primary school	357/16.9.91	
230	Jayanagar I st Block`	76	-	-	347.5	P&T Department	Post OFFICE	repeated	
231	Jayanagar 4 th Block`	17	-	-	98.6	East West Education trust	Education	functioning	
232	Jayanagar III Block(Byrasandra)	syno102,104	-	-	-	Patalamma temple	Temple	Existing	
233	Jayanagar 4 th T Block`	CA	-	-	142.82	Nirmala Cultural Centre	Cultural Centre	to be verified	

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
234	Jayanagar 4 th T Block`	12	-	-	1383.74	Bharath Petrolium Corpn	Petrol Bunk	repeated	
235	Jayanagar 5 th Block	527	-	-	1605.2	Sri Krishna Samithi	Samithi	Repeated	
236	Jayanagar 5 th Block	528	-	-	1605.2	Karmikara sangha	Karmikara sangha	Existing	
237	Jayanagar 4 th Block`	CA	-	-	384.76	Sarvodaya Edn. Society	School	Existing	
238	JPNagar 2 phase	36(p)	-	-	1640	A.Naa.Kru.Bhavan	A.Naa.Kru.Bha van	Vacant at spot	
239	BSK III Stage.Sy no 95,96, 122,etc of Hosakerehalli	CA2	-	-	966.05	BWSSB	tank	site is vacant at spot	
240	Sy No. 120 Katriguppa Banashankari 3rd Stage	CA	-	-	1097.81 sq mtr	S.S. Mother Dairy (Safal Market)	CASH & CARRY Stores	Vacant	
241	Banashankari 6th Stage 8th Block	5	-	-	6000	J.S.S. Maha vidhya peta	Kannada Midium School	Vacnat	
242	Banashankari 3rd Stage, Avalahalli	1	-	-	27.28	Hopcams	Fruts & Vegitabals	Vacant	
243	BTM 2nd stage, 1st Phase, Belekahalli	117	-	-	352.9	Home Pathic Foundation	Home Pathic Foundation	to be verified	
244	J.P. Nagar II Phase	36/A(2)	-	-	1000	Bharath Maddur Sangha	Labour Education & Training Centre	site is vacant	
245	BSK VI Stage. I Block	1	45.00	1/2 X47.00	1057.50	Allotted	-		
246	II Block	1	84.00	48.00	4032.00	-	-		
247	do	2	(D26445.00+8 8.00)/2	140.00	9310.00	-	-		

	N 61 -		Dimen	sion	Area in Sq.	Allo	tment Details		D
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
248	do	3	(22.00+52.00) /2	135.00	4995.00	-	BMTC		
249	do	4	(60.00+20.00) /2 120.00	135.00 75.00	15800.00	-	BMTC		
250	III Block	1	67.00	(157.00+13 5.00)/2	9782.00	-	-		
251	do	2	180.00	(52.00+7.0 0)/2	5310.00	-	-		
252	do	3	(45.00+150.00)/2	(260.00+28 5.00)/2	26568.00	-	BDA Commercial coplex		
253	do	4	45.00	45.00	2025.00	Allotted to BBMP for ward office	-		
254	IV Block	1	82.00	(97.00+108 .00).2	8405.00	Allotted to RV Education Socity	-		
255	do	2	45.00	67.00	3105.00	-	-		
256	do	3	90.00 75.00	(39.00+37) /2 (37.00+3.0 0).2	4920.00	Handed over to BWSSB	BWSSB		
257	do	4	37.00	52.00	1924.00	-	-		
258	do	5	67.00	(37.00+60. 00)/2	3249.00	Saffal India	-		
259	do	6	40.00	30.00	1200.00	-	-		
260	do	6A	30.00	30.00	900.00	-	-		
261	do	7	161.43 161.43	(94.98+67. 50)/2 (1/2 X101.00)/2	5A-10G	-	Burial ground		

SL NO	Nama of Lavout	CA Site No	Dimen	sion	Area in Sq.	Allot	ment Details		Remarks
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
262	do	8	141.00	(7.00+73.5	13A-23G	Handed over to BWSSB	BWSSB		
				0)/2		to construct GLR			
			172.50	(73.50+90.					
				00)/2					
			192.00	(72.00+172					
				.50)/2					
			129.40	(82.50+95.					
2.62			(00)/2					
263	V Block	1	(49.00X68.00)		2644.00	-	-		
264	,		/2	00)/2	F 0 < 00				
264	do	1A	24.00	22.00	506.00	Allotted to BSNL	-		
265	do	2	(51.00X29.00)	(66.00+65.	2925.00	-	-		
		_	/2	00)/2					
266	do	3	(177.00+165.0	48.50	8293.00	-	-		
	,		0)/2	20.00	24 (2 2 2 2				
267	do	4	90.00	39.00	2160.00	-	-		
268	XI Block	1	(86.00+100)/2	-	4464.00	Handicraft emporium	-		
				00)/2					
269	do	2	(72.00+30.00)	-	3159.00	-	BMTC		
			/2	00)/2					
270	do	3	(46.80+33.70)	•	1090.77	Kanaka Bhavana	-		
0.74	,		/2	50)/2	44506.00				
271	do	5			44506.00	Allotted to BBMP	-		
272	Sy.No.3 of	1			1116.49	Stay W.P NO.38128 &	-		
	Bikasipura, BSK V					38375/02			
0.50	Stage								
273	Sy.No.5&6 of	1			1701.66	Vacant Notified on	-		
	Bikasipura BSK V					28.01.05			
071	Stage				1000 07				
274	Sy. NO.17 & 18 of	1			4820.25	Vacant Notified on	-		
	Vasanthapura BSK V					28.01.06			
	Stage								

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
275	Sy.NO.9, 10 & 11 of Vaddarapalya, BSK V Stage	1			2968.40	Vacant Notified on 28.01.07	-		
276	Kumaraswamy layout II stage	19			821.00	-	Education Dpartment		
277	kumaraswamy layout I stage	21			1209.32	-	BMTC		
278	kumaraswamy layout I stage	25			217.46	-	Veda Vyesa Sharma Trust		
279	kumaraswamy layout I stage	26(p)			1800.00	-	Atma Darshana Yogasharama Trust		
280	Sy.No.50 of Govinayakanahally Kumaraswamy layout II stage.	27			1647.00	Allotted to BBMP	-		
281	kumaraswamy layout I stage	1			13144.16	-	BWSSB		
282	kumaraswamy layout II stage	5			2575.00	-	Commissione r Public Instruction		
283	kumaraswamy layout I stage	6			3749.99	Allotted to petrol bunk Bharath			
284	kumaraswamy layout I stage	10			1824.00	-	BMP		
285	kumaraswamy layout I stage	10-A			2475.00	Handed over to BBMP	-		

			Dimen	sion	Area in Sq.	Allo	tment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
286	kumaraswamy layout I stage	11(p)			294.50	Portion of C.A allotted Hopcomes & dairy. Remaining as park handed over to BBMP	-		
287	kumaraswamy layout I stage	15			3717.00	Allotted to Hospital to Vasavi Trust			
288	kumaraswamy layout II stage(Chandranagar)	17			866.25	-	Education Department		
289	kumaraswamy layout II stage	18			1297.50	As per the direction of hon'ble incharge ministre of bangalore south handed over to BBMP	-		
290	BSK II Stage	9			8452.86	-	Aurabindo Memorial school		
291	BSK II Stage	15/B			585.48	-	Asha Ramji Trust		
292	BSK II Stage, C.T. Bed	C.A			698.01	-	Sri Raghavendra Seva Samithi		
293	BSK III Stage, IV Phase VII Blcok	C.A			3244.15	Handed over to BBMP to Mention as park	Sri Bangalore Medical & Onclolgy Research centre		

			Dimen	sion	Area in Sq.	Allo	otment Details		_
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
294	BSK II Stage	9			2903.19	-	Devalaya Nirmana Sangha		
295	BSK II Stage	29			1057.05	-	Lakshmi devanna & Nanjppa memorial Trust		
296	BSK II Stage	C.A			7588.12	-	Canara Bank relief & welfare society		
297	BSK II Stage	36			268.07	-	Suchitra Cinema Academy center		
298	BSK II Stage	14			1430.69	-	Gokulam EDN Centre		
299	BSK II Stage	C.A			9602.72	-	BMTC		
300	BSK II Stage	C.A			312.13	-	KEB(KPTCL)		
301	BSK II Stage	C.A			111.11	-	KEB(KPTCL)		
302	BSK II Stage	C.A6			16913.41	-	Bhagirathi Bai Narayanaman e Trust		
303	BSK II Stage	C.A			213.67	-	Varaganapath i Seva Sangha		
304	BSK II Stage	C.A			1323.85	-	Our School		
305	BSK II Stage	C.A			619.00	-	Commissione r of Police		

			Dimen	sion	Area in Sq.	Allo	otment Details		
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
306	BSK II Stage	39			2430.86	-	B.Ramamurth y Construction & engineering society for nursing home (saraswathi nurshing home)		
307	BSK II stage (Marginal land)	2			25.31, 24.05, 45.35, 53.00	-	Sri Sharaswathi vidya Mandir		
308	BSK II Stage C.T bed	3			12850	-	ESI Corporation		
309	BSK II Stage	15/A			7172.50	-	Commission of Police		
310	BSK II Stage	21(p)			3068.39	-	Post Office		
311	BSK II Stage	C.A			1393.62	-	P & T Department		
312	BSK II Stage (between)junction of 80' &100' road)	C.A			3359.82	-	KEB (KPTCL)		
313	BSK II Stage	9			2903.19	-	New Age Edun. Socity		
314	BSK II Stage	C.A			3422.22	-	Karnataka Fire Servie		
315	BSK II Stage	8			2483.83	-	Jayanagar Club		
316	BSK II Stage	45			477.98	-	Mahila Samaja		

			Dimen	sion	Area in Sq.	Allo	otment Details		- I
SL NO	Name of Layout	ne of Layout CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
317	BSK II Stage	C.A			576.30	-	Amma Kodava Associaton		
318	BSK II Stage	24			1222.37	-	Devagiriguru Seva Samithi		
319	BSK II Stage	5			708.68	-	Sri Rama Laitha Kala Mandira		
320	BSK II Stage	Sy.No.8&9 karisandra			4422.60	-	Yadav Hostel		
321	C.T Be, BsK II Stage	1			1752.18	-	Samajaseva Mandali		
322	C.T Be, BsK II Stage				919.27	-	Govt. Model Kannada Primary School		
323	BSK II Stage, Yarabnagar	2			1896.55	-	AHLE- Sunhathal- Jamath-E- Hanifimahale		
324	BSK II Stage, Yadiyur- Nagasandra	CA-B			3532.80	-	Bangalore Telecome District		
325	BSK II Stage	CA-A			2982.45	-	Karnata Vignana Parishat		
326	BSK II Stage	13			15000.00	-	Ramachandra Mission		
327	Yadiyur village, BSK II Stage	Sy.No.56			14025.00	-	Kumaran Children Home		

	Norma of Langest		Dimen	sion	Area in Sq.	Allo	otment Details		Damasla
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
328	BSK II Stage	21, 19(p)			1008.00, 403.50, 553.50, 656.00	-	Vokkaligara Sangha, Kempegowda Institute Of Medical Science		
	BSK II Stage, Yarab Nagar	583			55.80	-	Church of jesus Christ		
	BSK I stage, II Block	15			6514.75	-	Karnataka Pradesh, Kurubara Sangha		
331	BSK I stage.	C.A			300.00	-	Manivilasa EDN Assn.		
332	BSK I stage.	10			93500.00	-	People EDN Socity		
333	BSK I stage.	14			2612.50	-	Gokulam EDN Centre		
334	BSK I stage, II Block	15/A			18000.00	-	Rajarajeswari EDN Socity		
335	BSK I stage.	13			24000.00	-	Police Dept		
336	BSK I stage.	5/A			1802.78	-	Swamy Vivekanada Vidyashala		
337	BSK I stage.	6/10			31000.00	-	BWSSB Bangaore		
338	BSK I stage, II Block	11			12206.75	-	Guru Shanidevara Bhaktha mandali		
339	BSK I stage	14Ato14F			26082.00	-	Marketing yard BCC		

CL NO	Name		Dimension		Area in Sq.	Allo			
SL NO	Name of Layout	CA Site No	North-South	East-West	Mtr	Allotted to Whom	Purpose	Present Usage	Remarks
01	02	03	04	05	06	07	08	09	10
340	BSK I stage	C.A			24000.00	-	Commissione r of Police, invanty road		
	Sunkenahalli Extn, H.Nagar	263			900.98	-	Kalamandir School & Art.		

Executive Engineer, South Division, Bangalore Development Authority, Bangalore

				C.	A. DETAILS - BDA LAYOUT		
Main Sl No	Sub Sl. No.	Name of the Layout	C.A. Site No	Area in Sq.M	Name of the Allottee	Purpose	Present Status
	H.B.R. 1	ST STAGE					
1	1	HBR 1st Stgae, 2nd Block	5(1)	8800.00	JSS Education Society	Public Office	JSS Public School
2	2	HBR 1st Stgae, 2nd Block	5(II)	16758.00	B.D.A	Public Office	BDA Complex
3	3	HBR 1st Stgae, 2nd Block	11	28272.5	-	Shopping Complex	Factory & Fully Builtup Area
4	4	HBR 1st Stgae, 3rd Block	8P	361.10	KEB	Public Office	KPTCL Public Office
5	5	HBR 1st Stgae, 3rd Block	8P	907.83	Anand Co-Op. Bank	Bank	Vacant
6	6	HBR 1st Stgae, 3rd Block	8P	1120.00	HPC Company Ltd	Petrol Bunk	Petrol Bunk
7	7	HBR 1st Stgae, 3rd Block	8P1	1353.00	The Mysore Paper Mills Ltd	Office	Vacant
8	8	HBR 1st Stgae, 3rd Block	8P2	2100.00	Add. Director General Direcotorate Revenue Intelligency	Office Building	Vacant
9	9	HBR 1st Stgae, 3rd Block	8P3	274.75	Anatha Shishi Nivasa	Shishu Palana Kendra	Vacant
10	10	HBR 1st Stgae, 3rd Block	8P4 & 8P5	999.85	M/s. Beris Welfare Assciation	Social & Cultural Kendra	Vacant
11	11	HBR 1st Stgae, 3rd Block	3P	5975.25	Jagadguru Renukacharya Vidyalaya Society	English Medium Primary School & Play Ground	English Medium Primary School & Play Ground
12	12	HBR 1st Stgae, 3rd Block	7	11250.00	KPTCL	KPTCL	KPTCL
13	13	HBR 1st Stgae, 3rd Block	12	65653.00	-	BDA Housing	Masque & Fully Built Up Area
14	14	HBR 1st Stgae, 3rd Block	14	3105.00	-	Burril Ground	Burril Ground
15	15	HBR 1st Stgae, 5th Block	CA	377.00	BESCOM (O & M)	O & M Unit	O & M Unit Office
16	16	HBR 1st Stgae, 5th Block	CA	4322.25	BWSSB	Ground Level Reservier and Pump House	BWSSB
	H.B.R. 2n	d STAGE					
17	1	HBR 2nd Stage	11	6142.5	BMTC	BMTC	BMTC
18	2	HBR 2nd Stage	2	642	Education Department	School	School
19	3	HBR 2nd Stage	1	653	Education Department	School	School
20	4	HBR 2nd Stage	CA-	3367	Sri Gururaghavendra Temple	Social and Cultural	Social and Cultural
21	5	HBR 2nd Stage	CA-1A	714.35	Sanjeevappa Sakamma Charitable Trust	School	School
	R.T. NAC						
22	1	R.T. Nagar 1st Block	CA-5	5975.25	Taralabalu Jagadguru Bruhan Matha	Social and Cultural	Social and Cultural
23	2	R.T. Nagar 1st Block	CA-4P		ESI Hospita	ESI Hospital	ESI Hospital
24	3	R.T. Nagar 2nd Block	CA-	2079.65	Florance Public School	Florance Public School	Florance Public School
25	4	R.T. Nagar 1st Block	CA-4/1	1272.84	Al Ameer Welfare Association	Masque & Arebic School	Masque & Arebic School
26	5	R.T. Nagar 2nd Block	CA-2/4		Vinayaka Temple Trust	Vinayaka Temple	Vinayaka Temple
27	6	R.T. Nagar 2nd Block	CA-5	77.65	KMF	KMF Milk Center	KMF Milk Center

				С.	A. DETAILS - BDA LAYOUT		
Main Sl No	Sub Sl. No.	Name of the Layout	C.A. Site No	Area in Sq.M	Name of the Allottee	Purpose	Present Status
28	7	R.T. Nagar 1st Block	CA-3	77.65	KMF	KMF Milk Center	KMF Milk Center
29	8	R.T. Nagar 2nd Block	CA-7	77.65	KMF	KMF Milk Center	KMF Milk Center
30	9	R.T. Nagar 2nd Block	CA-4	77.65	KMF	KMF Milk Center	KMF Milk Center
	VASANT	TH NAGAR					
31	1	Vasanth Nagar	139		AEE, Building Division	BBMP Office	BBMP Office
32	2	Vasanth Nagar	CA-		Rajput Sabha	Hostel	Hostel
33	3	Vasanth Nagar	13	11258.5	Lakshmi Venkateshwara Temple	Temple	Temple
34	4	Vasanth Nagar	46	1391	Kunchitigara Sangha	Hostel	Hostel
35	5	Vasanth Nagar	CA-	7469	Mount Carmel College	College & Play Ground	College & Play Ground
	PILLANN	IA GARDEN					
36	1	Pillanna Garden	CA	799.79	Р&Т	Post Office	Post Office
37	2	Pillanna Garden	CA	7428	BS Sridhar	LPG Gas Distributors	LPG Gas Distributors
38	3	Pillanna Garden	CA-1	812.89	BESCOM	BESCOM O & M	BESCOM O & M
39	4	Pillanna Garden	CA		BMTC		Vacant
40	5	Pillanna Garden	CA		HOPCOMS	Hopcoms	Hopcoms
41	6	Pillanna Garden	CA-4	794.5	Vinitha Education Society	School	School
	MATAD	AHALLI EXTENSION					
42	1	Mathadahalli	CA		BSNL	BSNL Exchange	BSNL Exchange
43	2	Mathadahalli	CA	9430	Childrens Welfare Association	Childrens Welfare Association	Childrens Welfare Association
44	3	Mathadahalli	CA	81.93	KMF	KMF	KMF
	EAST O	F NGEF LAYOUT					
45	1	East of NGEF Layout	7P2	1450.57	Mother Diary	Dairy Products	Dairy Products
46	2	East of NGEF Layout	7 P1A	3826.97	A.H.Memorial School	Education	Education
47	3	East of NGEF Layout	7 P1B	4000.1	New Horizon School	Education	Education
48	4	East of NGEF Layout	7 P3	870.99	Karnataka Ayurvedic Society	Medicine	Medicine
49	5	East of NGEF Layout	8 P1	826	Anjal Trust	Social & Cultural	Social & Cultural
50	6	East of NGEF Layout	8 P2	815.81	Kasturi Nagar Welfare Association	Social & Cultural	Social & Cultural
51	7	East of NGEF Layout	8 P3	1000	Crest Care	Social & Cultural	Social & Cultural
52	8	East of NGEF Layout	8 P4	2622.4	BWSSB	BWSSB	BWSSB
53	9	East of NGEF Layout	8 P5	996.62	BPC Ltd.,	Petrol Bunk	Petrol Bunk
54	10	East of NGEF Layout	8 P6	2253.63	Nightingale Medical Trust	Geriartic Institute Research Centre	Geriartic Institute Research Centr
55	11	East of NGEF Layout	9	3016	Udaya Vidya Kendra	Education	Education
56	12	East of NGEF Layout	10	463.1	BBMP IPP	Dispnesary	Dispnesary

				С.	A. DETAILS - BDA LAYOUT		
Main Sl No	Sub Sl. No.	Name of the Layout	C.A. Site No	Area in Sq.M	Name of the Allottee	Purpose	Present Status
57	13	East of NGEF Layout	11	1965	Karnataka Punjabi Association	Social & Cultural	Social & Cultural
58	14	East of NGEF Layout	15	2256	Proposed for R.T.O & Southern Railway	Part alloted to R.T.O	Part alloted to R.T.O
59	15	East of NGEF Layout	16	2949.75	Sainik Welfare Co-operative Centre	Community Centre	Community Centre
60	16	East of NGEF Layout	17	852.75	Madyama Community Centre	Social & Cultural	Social & Cultural
61	17	East of NGEF Layout	18	2700	BWSSB	BWSSB	BWSSB
62	18	East of NGEF Layout	19	1769	BPC Ltd.,	Gas Godown	Gas Godown
63	19	East of NGEF Layout	22	421	Vishwakarma Association	Social & Cultural	Social & Cultural
	HRBR LA	AYOUT					
64	1	HRBR 1st Block	1	343.42	Indian Institute of Music	Music School	Shakthi Ganapathy Temple
65	2	HRBR 1st Block	5	6969	BWSSB	Water Supply	Water Supply
66	3	HRBR 1st Block	6	6514.2	KEB	Power Supply	Power Supply
67	4	HRBR 1st Block	10	1822.8	Modaliar Trust	Park	Tombs Vinayaka Temple
68	5	HRBR 1st Block	12	5018.19	BDA Ward Office	BDA Ward Office	BDA Ward Office
69	6	HRBR 1st Block	14	3672	Fire Force	Fire Force	Fire Force
70	7	HRBR 1st Block	16	991.06	Police Department	Police Station	Not constructed
71	8	HRBR 1st Block	15	990	Postal Dept.	Post Office	
72	9	HRBR 1st Block	17	13323.25	BMTC	Bus Terminal	
73	10	HRBR 1st Block	19	1896.24	Yadava Sanga	Yadava Sanga	Building under Construction
74	11	HRBR 1st Block	4	2714.87	Barry Association	-	Mini Forest
75	12	HRBR 2nd Block	2	1954.12	CMR Trust	School	School
76	13	HRBR 2nd Block	4	966.04	Police Station	Police Station	Police Station
77	14	HRBR 2nd Block	5	1471.37	KPTCL	KPTCL Office	KPTCL Office
78	15	HRBR 2nd Block	6	2528	Dpt. Of Libraries	Library	Bldg. under construction
79	16	HRBR 2nd Block	7	8342.13	HRBR Cosmopolitan Club	Social & Cultural Activities	Social & Cultural Activities
80	17	HRBR 2nd Block	10	5688.29	Revana Siddeshwara Trust	School	School
81	18	HRBR 2nd Block	11	6124.5	KSRTC Bus Terminal	Bus Terminal	Bus Terminal
82	19	HRBR 2nd Block	14	5827.6	BWSSB	Treatment Plant	Fencing by Forest Dept
83	20	HRBR 3rd Block	1	4159.79	BWSSB	GLR	GLR
84	21	HRBR 3rd Block	2	2196.35	BPCL	Petrol Bunk	Petrol Bunk
85	22	HRBR 3rd Block	3P1	72	KMF	Milk Booth	Milk Booth
86	23	HRBR 3rd Block	3P2	75.2	BBMP	Ward Office	Ward Office
87	1	OMBR	8	602.26	social & Education centre	(South india) church	Social & Education centre

				C	A. DETAILS - BDA LAYOUT		
Main Sl No	Sub Sl. No.	Name of the Layout	C.A. Site No	Area in Sq.M	Name of the Allottee	Purpose	Present Status
8	2	OMBR	9	750.3	Petrol bunk	H P C L Petrol bunk	Petrol bunk
89	3	OMBR	5	7015.42	Education	(C M R)Education Building	Education
90	4	OMBR	13	109.82	Petrol Bunk	Vacant (out of 717.82 Sq.M 608.00 Sq. M has been utilised for formation of service road at Ramamurthy Nagar Grade separator)	Petrol Bunk
91	5	OMBR	3(p)	72	K M F Milk vending center	Milk vending center	K M F Milk vending center
92	6	OMBR	3(p)	33.33	HOPCOMS	Vegetable vending center	HOPCOMS
93	7	OMBR	3(p)	2169.6	Education	Trust constructed compound	Education
94	8	OMBR	6	23652.22	Gov't Building	Wireless dept.	Gov't Building
95	9	OMBR	7	11732.68	Gov't Building	Telecom Dept.	Gov't Building
96	10	OMBR	2	23012.27	Gov't Building	BWSSB Tanks & Quarters	Gov't Building
		G.Byappanahalli Slum					-
97	1	G.Byappanahalli Slum	-	83.61	Association	Church	
98	2	G.Byappanahalli Slum	-	83.61	Association	Maramma Temple	
99	3	G.Byappanahalli Slum	-	111.48	Karnataka board of Wakf	School	
100	4	G.Byappanahalli Slum	-	83.61	Karnataka board of Wakf	Mosque	
	LINGAR	AJAPURA				·	
101	1	Lingarajapura	6		School for Physical Handicapped	School	School
102	2	Lingarajapura	3	1200.00	East Bangalore Church of Christ	Church	Church
103	3	Lingarajapura	5	3560.00	Women's & Childrens Kshemabhivrudhi School	School	School
104	4	Lingarajapura	C.A.	1680.00	Ebanajor full Gospel Church of India	Church	Church
	R.M.V. I						
105	1	R.M.V. II Stage 1st Block	1	2695.30	-	School	Vacant
106	2		2	4253.00	-	Park	Park
107	3	2nd Block	1	1947.00	-	Park	Park
108	4		2	3939.00	-	Burrial Ground	Burrial Ground
109	5		3	1859.00	Allotted to Gas agency	Gas Agency	
110	6	3rd Block	1 a)	3135.00	KEB	KEB	Existing Building

	C.A. DETAILS - BDA LAYOUT									
Main Sl No	Sub Sl. No.	Name of the Layout	C.A. Site No	Area in Sq.M	Name of the Allottee	Purpose	Present Status			
			b)	299.00	Hopcoms	Hopcoms	Provided chain link fencing			
111	7		2	5455.00	Park	-	MS grill fencing			
112	8		3	936.50	Park	Temple	Existing Temple Building under litigation O.S.No. 6156/95			
113	9		4	2783.00	Park	Park	Chain link fencing			
114	10	Sy. No. 20	1	3276.00	C.A (H.T. Line)	Park	-			
115	11	Sy. No. 36/4.5 of Geddadahalli	1	637.87	C.A.	Petrol Bunk	Existing Bunk			
116	12		2	109.25	C.A.	Vacant	Vacant			
117	13	Sy. No. 71/3 of Nagashettihalli	1	675.00	C.A.	Temple	Existing Temple			

Executive Engineer B.D.A. North Division Bangalore